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Chapter 0O

Background

0.1 Finite probability theory

We begin by recalling a few results on finite probability spaces. For more details on this
subject, see Chapter 5 in [2].

Let Q = {wy,...,wn} be a sample space containing m elements. Let p = (p1,...,pn) be a
probability vector, i.e.,

0<p; <1, foralli=1,...,m, and Zpizl-
i=1

We define p; = P({w;}) to be the probability of the event {w;}. If A C  is a non-empty
event, we define the probability of A as

P(A)= > pi=) P({w})

Lw; €A w€eA

Moreover P(()) = 0. The pair (Q,P) is called a finite probability space. For example,
given p € (0, 1), the probability space

Qn = {H, T}N, Pp({w}) — pNH(w)<1 _p>NT(w)

is called the N-coin toss probability space. Here Ny (w) is the number of heads in the
toss w € Qn and Nr(w) = N — Ng(w) is the number of tails. In this probability space,
tosses are independent and each toss has the same probability p to result in a head.

A random variable is a function X : £ — R. Y is said to be X-measurable if there
exists a function g such that Y = ¢g(X). Two random variables X Y are independent
fP(X € LY e J) =P(X € I)P(Y € J) for every I C Im(X) and J C Im(Y'), where
Im(X) ={y € R:y = X(w) for some w € Q} is the image of X.
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The expectation of X is denoted by E[X]:

E[X] =) X(w)P({w}).

weN

and satisfies the properties in the following theorem.

Theorem 0.1. Let XY be random variables, g : R — R, «, 8 € R. The following holds:
1. ElaX + BY] = aE[X] + SE[Y] (linearity).
If X >0 and E[X]| =0, then X = 0.

If X,Y are independent then E[XY]| = E[X]E[Y].

> Lo

IfY = g(X), i.e., if Y is X-measurable, then
Elg(X)]= > g(x)fx(), (1)
z€lm(X)

where fx(x) = P(X = x) is the probability distribution of the random variable X .

For instance in the N-coin toss probability space consider a random variable X which is
measurable with respect to Ny, i.e., X(w) = ¢(Ny(w)). Then

E)[X]= ) XWP({wh= ) g(Nrw))p" (1 —p)"re

- kNO <]Z>g(k)pk(l — )k, (2)

where we used that the are (]IX) N-tosses such that Np(w) = k.

The quantity
Var[X] = E[(X — E[X])]] = E[X?] - E[X]?

is called variance of the random variable X. The quantity
Cov[X,Y]| =E[(X —E[X])(Y —E[Y]) = E[XY] — E[X]E[Y]
is called covariance of the random variables X, Y. We have the identities
Var[X]| = Cov[X, X]|, Var[X + Y] = Var[X]| + Var[Y] + 2Cov[X,Y].
If Var[X], Var[Y] are both positive (i.e., if X, Y are not deterministic constants), the quantity

Cov[X,Y]

Com XY = Va7

e [-1,1]
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is called correlation of X, Y. If Corr[X,Y] = 0, the random variables X, Y are said to be
uncorrelated. It follows by Theorem [0.1(3) that X,V independent = X,Y uncorrelated
(while the opposite is in general not true).

The conditional expectation of X given Y is denoted by E[X|Y]:

EX[Y]w)= > PX=z|Y =Y(w)z,

z€Im(X)

where P(A|B) = P(B)"'P(A N B) is the conditional probability of the event A given the
event B. The conditional expectation is a Y-measurable random variable and satisfies the
following properties.

Theorem 0.2. Let X,Y,7Z : Q) — R be random variables and o, 3 € R. Then

1. ElaX + BY|Z] = aE[X|Z] + BE[Y|Z] (linearity).
If X is independent of Y, then E[X|Y] = E[X].
If X is Y-measurable, then E[X|Y]| =

E[E[X|Y]] = E[X].

If X is Z-measurable, then E[XY|Z] = XE[Y|Z].

S v e

If Z is Y -measurable then E[E[X|Y]|Z] = E[X|Z].

These properties remain true if the conditional expectation is taken with respect to several
random variables.

A discrete stochastic process is a (possibly finite) sequence {Xo, X1, Xo, ...} = { X, }nen
of random variables. We refer to the index n in X,, as time step. If the discrete stochastic
process is finite, i.e., if it runs only for a finite number N > 1 of time steps, we shall denote
it by {X,}n—o.. ~ and call it a N-period process. At each time step, a discrete stochastic
process on a finite probability space is a random variable with finitely many possible values.
More precisely, for all n = 0,1,2,..., the value xz, of X,, satisfies z,, € Im(X,,). We call z,,
an admissible state of the stochastic process. Note that x, is an admissible state if and
only if P(X,, = z,,) > 0.

A stochastic process {Y; },en is said to be measurable with respect to {X,},en if for
all n € N there exists a function g, : R"" — R such that Y, = ¢,(Xo, Xo,...,X,,). If
Y, = hn(Xo, ..., Xn-1) for some function h, : R® — R, n > 1, then {Y,,},en is said to be
predictable from the process { X, }nen.

A discrete stochastic process { X, }nen on the finite probability space (€2, P) is called a mar-
tingale if
E[Xn1|X1, Xo, ... X, = X,,, forallneN. (3)
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The interpretation is the following: The variables X, X1, ... X, contains the information
obtained by “looking” at the stochastic process up to the time step n. For a martingale
process, this information is not enough to estimate whether, in the next step, the process
will raise or fall. Martingales have constant expectation, i.e., E[X,] = E[X{], for all n € N.

A discrete stochastic process {X,}nen on the finite probability space (2,P) is called a
Markov chain if it satisfies the Markov property:
P(XnJrl = xn+1|Xn = xn) = ]:ED(XnJrl = $n+1|X1 =T, X2 = T2,... ,Xn = .’]‘Jn), (4)

for all n € N and for all admissible states zo € Im(Xy),...,zn41 € Im(X,11) such that
P(Xy = 9, X1 = 1,...X,, = x,) is positiveﬂ The interpretation is the following: If
{X, }nen is a Markov process, then the probability of transition from the state x, to the
state x,41 does not depend on the states occupied by the process before time n. Thus
Markov processes are “memoryless”: at each time step they “forget” what they did earlier.

Remark 0.1. If {X, },en is a Markov process and {Y},} ey is measurable with respect to
{X, }nen, then the Markov property (4] implies

E[Y,| X, 1] = E[Y,| Xo, ... Xo_1]

The left hand side of is called the transition probability from the state x,, to the state
Zp41 and is denoted also as P(x, — x,.1). If P(x,, — x,41) is independent of n = 1,2,...,
the Markov process is said to be time homogeneous.

Note that both the Markov property and the martingale property depend on the probability
measure, i.e., a stochastic process can be a martingale and/or a Markov process in one
probability IP and neither of them in another probability P'.

Example: Random Walk. Consider the following stochastic process { X, },—1.n defined
on the N-coin toss probability space (Qy,P,):

1 ifry,=H
w=(71,---, ) € Qn, Xn(w>:{_1 ifz =T

The random variables X7, ..., Xy are independent and identically distributed (i.i.d), namely
P,(X,=1)=p, Py(X,=-1)=1-—p, foralln=1,...,N.

Hence
E[X,] =2p—1, Var[X,]=4p(1—-p), foralln=1,... N.

Now, forn=1,..., N, let
My=0, M,=>» X
i=1

'That is to say, there must be a path of the stochastic process that connects the states xg, ..., Tp.



-----

E[M,)=n(2p—1), foralln=0,...,N.

Moreover, since it is the sum of independent random variables, the random walk has variance
given by

Var[My] =0, Var[M,] = Var(X; + Xp + -+ X,,) = > Var[X;] = 4np(1 — p).
=1

When p = 1/2, the random walk is said to be symmetric. In this case {M,}n—0. .~
satisfies E[M,,] = 0 and Var[M,,] =n, n=10,...,N. When p # 1/2, {M,,}—0
an asymmetric random walk, or a random walk with drift.

If M,, = k then M, is either k 4+ 1 (with probability p), or k — 1 (with probability 1 — p).

Hence we can represent the paths of the random walk by using a binomial tree, as in the
following example for N = 3:

.....

Mz =3
/
My =
M =1 My =1
MO =0 M2 -
1-p p 1-p
M; = -1 My =—-1
1-p /
My = -2
1-p
Mg = -3

By inspection we see that the admissible states of the symmetric random walk at the step n
are given by
Im(M,)={-n,—n+2,—n+4,....,n—2,n}.

Let mo =0, my € {—1,1} = Im(M;), ..., my € {—N,—-N +2,...,N — 2, N} = Im(My)
be the admissible states at each time step. From the binomial tree of the process it is clear
that there exists a path connecting mg, mq,...,my if and only if m, = m,_; + 1, for all



n=1,...,N, and we have
P(Mn = mn‘Ml =Mmy,..., Mnfl = mn71> = P(Mn = mn‘Mnfl - mnfl)

o if m, =m,_1+1
)l 1—-p ifmy,=my_1—1
Hence the random walk is an example of time homogeneous Markov chain.

Next we show that the symmetric random walk is a martingale. In fact, using the linearity
of the conditional expectation we have

]E[MnlMl; ey Mn—l] — E[Mn—l + Xn|M1, e )Mn—l]
=E[M, {|M,...,M, 1] +E[X,|Mi,..., M, 1]
As M,,_1 is measurable with respect to M, ..., M,,_q, then E[M, _1|M;,..., M, 1] = M,,_1,
see Theorem [0.2(3). Moreover, as X, is independent of M, ..., M, 1, Theorem [0.2|2) gives
E[XR|M1, R ,Mn_l] = E[Xn] = 0. It follows that ]E[Mn|M1, e 7Mn—1] = Mn—h i.e., the
symmetric random walk is a martingale. However the asymmetric random walk (p # 1/2)

is not a martingale, as it follows by the fact that its expectation E[M,] = n(2p — 1) is not
constant.

Generalized random walk. A random walk is any discrete stochastic process { M, }nen
which satisfies the following properties:

e Im(M,)={-n,—n+2,—n+4,....n—2,n}, foralln=0,1,...
o {M,},en is a time-homogeneous Markov chain

e There exists p € (0,1) such that for (m,_1,m,) € Im(M,_;) x Im(M,,), the transition
probability P(m,,_; — m,,) is given by

P if m, =my,_1+1
P(my,.1 —m,)=¢ 1—p ifm,=m,_1—1
0 otherwise

We may generalize this definition by relaxing the second and third properties as follows.

Definition 0.1. A discrete stochastic process { M, }n,en on a finite probability space is called
a generalized random walk if it satisfies the following properties:

1. Im(M,) ={-n,—n+2,—n+4,...,n—2,n}, foralln=0,1,...
2. {Mp}nen is a Markov chain

3. For alln=1,2,... there ezist p, : Im(M,,_1) — (0,1) such that

pn(mn—l) Zf My = Mp—1 + 1
P(m, 1 — m,) =< 1—=py(mu_1) ifmp=m,_1—1
0 otherwise
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The binomial tree of a generalized random walk will be written as in the following example:

M3 == 3
My =2
p2(1) 1-ps(2)
M, =1 Ms;=1
p1(0) 1-p2(1) p3(0)
My =0 My, =0
1-p1(0) p2(-1) 1—p3(0)
Ml = —1 M3 - —1
1—-pa(—-1) p3(—2)
M2 - —2
%\2)
My = -3
Note that when p, = p for all n = 1,2,..., the generalized random walk becomes the

standard random walk considered before.

For later purpose we give below a formula to compute the probability that the generalized
random walk follows a given path. It is clear that any path in the N-period random walk
is uniquely identified by a vector x € {—1,1}", i.e., a N-dimensional vector where each
component is either —1 or 1. More precisely, the path of the random walk corresponding to
r € {—1,1}" it the unique path satisfying My =0 and M; = M;  +x;, i =1,..., N.

Theorem 0.3. Let x € {—1,1}" and set o = 0. The probability P(x) that the generalized
random walk follows that path x is given by

P(z) = H [— min(zy, 0) + zxps (i x]>] : (5)

k=1

The previous theorem can be easily proved by induction, but here we limit ourselves to
consider one example of application of . In the 3-period model consider the path x =
(—1,—1,1). Then according to the previous theorem

]P)<<_17 _17 1)) = (_ min(_lv 0) + (_1>p1(0))(_ min(_L 0) + (_1)])2(0 - 1))
x (=min(1,0) + (1)p2(0 =1 = 1)) = (1 = p1(0))(1 = p2(=1))p2(—2).

That this formula is correct is easily seen in the binomial tree above.
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The generalized random walk will be used in the project in Chapter [Ifto introduce and study
the properties of a generalized binomial model in which the interest rate of the risk-free asset
is a stochastic process. The standard binomial model, in which the risk-free rate is assumed
to be constant, is review in the next section.

0.2 The binomial options pricing model

Given 0 < p < 1, Sy > 0 and u > d, the binomial stock price at time t is given by
S(0) = Sp and
| S(t—1)e* with probability p B
5(t) = { S(t—1)e? with probability 1 —p ~ fort=1,...,N. (6)
If S(t) = S(t — 1)e* we say that the stock price goes up at time ¢, while if S(¢) = S(t — 1)e?
we say that it goes down at time ¢ (although this terminology is strictly correct only when
u > 0 and d < 0). For instance, for N = 3 the binomial stock can be represented as in the
following recombining binomial tree:

S(?)) = S()Ggu
p
S(2) = S()(EQU
S(l) = S()e“ 5(3) = S()€2u+d
/ 1—p /
S(0) = So S(2) = Spertd
N / -
S(l) = Soed S(g) = 506u+2d
5(2) = Soezd
1-p
S(B) = SQ€3d

The possible stock prices at time ¢ belong to the set
Im(S(t)) = {SoeN =N N, (1) = 0,..., ¢},

where N, (t) is the number of times that the price goes up up to and including time ¢. It
follows that there are ¢ + 1 possible prices at time ¢ and so the number of nodes in the
binomial tree grows linearly in time.

12



The binomial stock price can be interpreted as a stochastic process defined on the N-coin
toss probability space (Qy,P,). To see this, consider the following i.i.d. random variables

1, if the t" toss in w is H

—1, if the t"" tossinwis T °’ E=1,.., N, (7)

XtIQN%R, Xt((A)): {

We can rewrite () as S(¢t) = S(t — 1) exp[(u + d)/2 + (u — d)X;/2], which upon iteration
leads to

S(t)zsoexp{t(%l>+<u;d)Mt:|, My=X1+4+---+X;,, t=1,...,N. (8)

Hence S(t) : Qn — R and therefore {S(¢)}+—o.. n is a N-period stochastic process on the N-
coin toss probability space (2y,P,). In this context, P, is called physical (or real-world)
probability measure, to distinguish it from the martingale (or risk-neutral) probability
introduced below. Letting My = 0, we have that {M;},— . n is a random walk (which is
asymmetric for p # 1/2). It follows that {S(t)}i—o
with respect to {M;}i—o,...
called a path of the binomial stock price.

-----

-----

A binomial market is a market that consists of one stock with price given by , and a
risk-free asset with value B(t) at time t = 1,..., N. In the standard binomial model it is
assumed that B(t) is a deterministic function of time with constant interest rate, namely

B(t+1) — B(t)
B(t)

r=logB(t+1)—logB(t), or R=

It follows that the value of the risk-free asset at time ¢ can be written in either of the two
forms

B(t) = Bee™, B(t)=(1+R), t=1,...,N,

where By is the initial value of the risk-free asset. We shall refer to R as the discretely
compounded risk-free rate and to r as the continuously compounded risk-free rate
(although the latter terminology is only strictly correct in the time continuum limit, i.e.,
when we let the length of the time step tends to zero). Note also that

r =log(l + R). (9)
As r and R are small, then r =~ R.

Remark 0.2. In [2] only the risk-free rate r was used. Here we introduced the discretely
compounded risk-free rate R as well because it will be used in Chapter (1] to formulate a
generalized binomial model with stochastic risk-free rate.

The quantity
S()

S*(t) = e "S(t), or equivalently S*(t) = TR

13



is called the discounted price of the stock (at time ¢ = 0).

In the following we denote by E, the (possibly conditional) expectation in the probability
space (Qn,P,).

Theorem 0.4. If r ¢ (d,u), there is no probability measure P, on the sample space Qy
such that the discounted stock price process {S*(t)hi—o.. N is a martingale. For r € (d,u),
{S*(t) }+=o0....n s @ martingale with respect to the probability measure P, if and only if p = ¢,

where

er — el

qzeu_ed'

Proof. By definition, {S*(¢) }:+=o,...~ is a martingale if and only if

.....

E,[S*(t)[S*(0),...,S*(t—1)]=5"(t—1), foralt=1,...,N.

Taking the expectation conditional to S*(0),...,S*(t — 1) is clearly the same as taking the

expectation conditional to S(0),...,S(t — 1), hence the above equation is equivalent to
E,[S(t)]S(0),...,S(t—1)]=¢€"S(t—1), forallt=1,..., N, (10)
where we canceled out a factor e in both sides of the equation. Moreover
E,[S(t)S(0),...,S5(t —1)] = Ep[%S(t — 1)[S(0),...,S(t—1)]
=S(t— 1)EP[%|S(O), LSt =1),

where we used that S(t — 1) is measurable with respect to the conditioning variables and

thus it can be taken out from the conditional expectation (see property 5 in Theorem |0.2]).

As
e with prob. p

S(1)/S(t — 1) = { :

e with prob. 1 —p
is independent of S(0),...,S(t — 1), then by Theorem [0.22) we have

S(t) S(t) d
E,[———|5(0),...,S(t —1)] =E,[——] =¢" 1—p).
p[S<t—1)| ( )7 ) ( )] p[S(t—l)] ep+€( p)
Hence holds if and only if e“p + e4(1 — p) = e". Solving in p € (0,1) we find p = ¢ and
the condition 0 < ¢ < 1 is then equivalent to r € (d, u). ]

Due to Theorem , P, is called martingale probability measure. Moreover, since
martingales have constant expectation, then

E,[S(t)] = Soe™. (11)

Thus in the martingale probability measure one expects the same return on the stock as on
the risk-free asset. For this reason, P, is also called risk-neutral probability.
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Self-financing portfolios

A portfolio process in a binomial market is a stochastic process {(hg(t), hp(t))}i—o,..
such that, for t = 1,..., N, (hs(t),hp(t)) corresponds to the portfolio position (number of
shares) on the stock and the risk-free asset held in the interval (¢ — 1,¢]. A positive number
of shares corresponds to a long position on the asset, while a negative number of shares
corresponds to a short position. As portfolio positions held for one instant of time only are
meaningless, we use the convention hg(0) = hg(1), hp(0) = hp(1), that is to say, hs(1), hp(1)
is the portfolio position in the closed interval [0,1]. We always assume that the portfolio
that (hs(t), hp(t)) = H(S(0),...,S(t—1)). Thus the decision on which position the investor
should take in the interval (¢ — 1,t] depends only on the information available at time ¢ — 1.
The value of the portfolio process is the stochastic process {V (t)}:—o. . n given by

-----

V(t) = hg(t)B(t) + hs(t)S(t), t=0,...,N. (12)

A portfolio process {(hs(t), hp(t)) }i=o... .~ is said to be self-financing if

V(it—1)=hgt)B(t—1)+hs(t)S(t—1), t=1,...,N, (13)
while it is said to generate the cash flow C(t — 1) if
V(it—1)=hgt)B(t—1)+hs(t)S(t—-1)+C(t—-1), t=1,...,N. (14)

Recall that C(t) > 0 corresponds to cash withdrawn from the portfolio at time ¢ while
C(t) < 0 corresponds to cash added to the portfolio at time ¢. The self-financing property
means that no cash is ever added or withdrawn from the portfolio.

Theorem 0.5. Let {(hs(t), hp(t))}i=o
with value {V(t) }i—o,..., ' N 1$ a martingale
in the risk-neutral probability measure. Moreover the following identity holds:

V*(t) = E,[V*(N)[S(0),...,S()], t=0,...,N. (15)

77777

~~~~~

Proof. The martingale claim is
E,[V*(@)[V*(0),...,V*(t—=1)] =V*(t—1).
We now show that this follows by
E,[V*(t)]S(0),...,S(t—1)] =V*(t-1). (16)
In fact, computing the expectation of conditional to V*(0),...,V*(t — 1), we obtain

Vit —1) = [V*(t—1)|V*( )y, VEE—1)]
E,[E [V L SE=DVH0), . VEE - 1)
—Eq[V (¢ )|V*( ),---,V*<t—1)],

15



where we have used property 3 of Theorem in the first equality and property 6 in the last
equality. The latter is possible because V*(t) is measurable with respect to S(0),...,S(¢).
Now we claim that also implies the formula . We argue by backward induction.
Letting t = N in we see that holds at t = N — 1. Assume now that holds at
time t 4 1, i.e.,

V*(t+1) =EJ[V*(N)|S(0),...,S(t+1)].

Taking the expectation conditional to S(0),...,S(t) we have, by (16),
V*(t) = E,[V*(t+ 1)[5(0),...,5(t)] = E, [Eq[v*(NNS(O), LSt +1)]15(0), .., S(t)}
=E,[V*(N)[S(0),...,S()].

Hence holds at time ¢ and so = , as claimed. Finally we prove . As
B(t) = B(t — 1)e", gives

hg(t)B(t) = V(t —1) — hg(t)S(t — 1)e".
Replacing in ([12]) we find
V(t)=¢e"V(t—1)+ hs(t)[S(t) — S(t —1)e].
Taking the expectation conditional to S(0),...,S(t — 1) we obtain

E,[V(1)]S(0),...8(t — 1)] = €'E,[V(t — 1)[S(0), ..., S(t — 1)]
B [hs(£)(S(E) — S(t — 1)e")[S(0),..., 8¢ —1)].  (17)

As V(t — 1) and hg(t) are measurable with respect to the conditioning variables we have
E,[V(t—1)[5(0),...,S(t—1)] =V (t — 1), as well as

Eq[hs(t)(S(t) — S(t —1)e")[S(0),...,S(t —1)]
— hs(DE,[S(t) — S(t — 1)e’|S(0), ..., S(t —1)]
— hg(t) (Eq[S(t)]S(O), LS —1)] = S(t— 1)61“) — 0,

where in the last step we used that {S*(t)}+—o
bility. Going back to we obtain

~ is a martingale in the risk-neutral proba-

77777

E,[V(1)S(0),...S(t—1)] = 'V (t — 1),

which is the same as . OJ

Arbitrage portfolios

A portfolio process {(hs(t), hp(t)}+—o.. .~ invested in the binomial market is called an arbi-
trage portfolio process if it is predictable and if its value V' (t) satisfies

16



1) V(0) =0;
2) V(N,w) >0, for all w € Qp;
3) There exists w, € Qy such that V(N,w,) > 0.

Theorem 0.6. Assume d < r < u, i.e., assume the existence of a risk-neutral probabil-
ity measure for the binomial market. Then the binomial market is free of self-financing
arbitrages.

Proof. Assume that {hg(t), hp(t)}i—o,. n is a self-financing arbitrage portfolio process. Then
V(0) = V*(0) = 0 and since martingales have constant expectation then E,[V*(¢)] = 0, for
all t =0,1,...,N. As V(N) > 0, then V*(N) > 0 and Theorem [0.1}2) entails V*(N,w) = 0
for any sample w € Qy. Hence V(N,w) = 0, for all w € Qy, contradicting the assumption
that the portfolio is an arbitrage. O]

Remark 0.3. As shown in [2], the existence of a risk-neutral probability measure in not
only sufficient but also necessary for the absence of self-financing arbitrages in the binomial
market. More precisely, if r ¢ (d,u) one can construct self-financing arbitrage portfolios
in the market. Hence the binomial market is free of self-financing arbitrages if and only if
it admits a risk-neutral probability measure. The latter result is valid for any discrete (or
even continuum) market model and is known as the first fundamental theorem of asset
pricing.

Risk neutral pricing formula for European derivatives in the bino-
mial model

Let Y : Qy — R be a random variable and consider the European-style derivative with
pay-off Y at maturity time 7" = N. This means that the derivative can only be exercised
at time t = N. For standard European derivatives Y is a deterministic function of S(N),
while for non-standard derivatives Y is a deterministic function of S(0), ..., S(N). Let IIy(¢)
be the binomial fair price of the derivative a time ¢. By definition, Iy (¢) equals the value
V(t) of self-financing, hedging portfolios. In particular, 1Ty (¢) is a random variable and so
{Ily (t) }+=0,... N is a stochastic process. Using the hedging condition V(/N) =Y (which means
V(N,w) =Y (w), for all w € Qy)) and (15)), we have the following formula for the fair price
at time ¢ of the financial derivative:

Iy (1) = e "™-DE, [Y[S(0), ..., S(t)]. (18)

Equation (18) is known as risk-neutral pricing formula and it is the cornerstone of
options pricing theory. It holds not only for the binomial model but for any discrete—or
even continuum —pricing model for financial derivatives. It is used for standard as well as
non-standard European derivatives. In the special case t = 0, reduces to

Iy (0) = e ™VE,[Y]. (19)
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Remark 0.4. We may interpret as follows: the current (at time ¢t = 0) fair value of the
derivative is our expectation on the future payment of the derivative (the pay-off) expressed
in terms of the future value of money (discounted pay-off Y* = e="VY"). The expectation has
to be taken with respect to the martingale probability measure, i.e., ignoring any (subjective
or illega]ED estimate on future movements of the stock price (except for the loss in value due
to the time-devaluation of money).

Example. Consider a 2-period binomial model with the following parameters
e“z%, ed:; r=0, pe(0,1).
Assume further that Sy = 36. Consider the European derivative with pay-off
Y =(5(2) —28), —2(5(2) —32), +(5(2) — 36)4
and time of maturity 7" = 2. According to , the fair value of the derivative at t = 0 is
Iy (0) = e " E,[Y] = Ey[(S(2) — 28)] — 2E,[(S(2) — 32)+] + E,[(S(2) — 36)4].

By the market parameters we find ¢ = 1/2. Hence the distribution of S(2) in the risk-neutral
probability measure is

1/4 if s=16 of s =64

P,(S(2) =s) = 1/2 if s =32
0 otherwise

It follows that
E,[(S(2) — 28):] = 11, E,[(S(2) — 32):] =8, E,[(S(2) - 36):] =T,

hence Iy (0) = 2.

By definition of expectation in the N-coin toss probability space, see , the risk-neutral
pricing formula for the standard European derivative with pay-off Y = ¢(S(N)) and
maturity 7" = N takes the explicit form

N
N
My (0) =e ™) (k > ¢"(1 = q)F g(Soer V=P,
k=0

However this formula is not very convenient for numerical computations, because the bino-

mial coefficient (]Z ) will reach very large values for even a relative small number of steps (e.g.,

(5)) is of order 10'). A much more convenient way to compute numerically the binomial

price of standard European derivatives is by using the recurrence formula Ily (N) =Y and

My (t) =e " (qp(t + 1)+ (1 — L (t+ 1)), t=0,...,N—1, (20)

2Trading in the market using privileged information is a crime (insider trading).
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where I} (¢) is the binomial price of the derivative at time ¢ assuming that the stock price
goes up at time t, i.e.,

I (t) = e "WOE [Y[S(0),...,S(t — 1), S(t) = S(t — 1)e"]

and similarly one defines II{(¢) by replacing “up” with “down”. The formula follows
immediately by and the definition of conditional expectation.

Remark 0.5. It can be shown that any European derivative in the binomial market can
be hedged by a self-financing portfolio invested in the underlying stock and the risk-free
asset, see [2]. For this reason the binomial market is called a complete market. In fact,
the second fundamental theorem of asset pricing states that market completeness
is equivalent to the uniqueness of the risk-neutral probability measure. An arbitrage free
market is said to be incomplete if the risk-neutral measure is not unique. When the market
is incomplete the price of European derivatives is not uniquely defined and moreover there
exist European derivatives which cannot be hedged by self-financing portfolios. An example
of incomplete market is the trinomial model discussed in the project in Chapter [2|

Implementation of the binomial model

For real world applications the binomial model must be properly rescaled in time. Precisely,
let T > 0 be the maturity of a European derivative and consider the uniform partition of
the interval [0, 7] with size h > 0:

O:t0<t1<"'<tN:T, ti—tl',l:h,, forallizl,...,N.
The binomial stock price on the given partition is given by S(0) = Sy > 0 and

~f S(ti—1)e*, with probability p, .
Sti) = { S(t;_1)e?, with probability 1 — p, p=L. N,

while
B(tl) == Boerhi.

The instantaneous mean of log-return and the instantaneous variance of the binomial
stock price are defined respectively by

0 = 3B, flog S(t:) ~log S(ti1)] = 7lpu-+ (1~ )]

h
(u—d)?

o’ = %Varp[log S(ti) —log S(ti—1)] = h p(L = p).

The parameter o itself is called instantaneous volatility. Note carefully that these pa-
rameters are constant in the standard binomial model and that they are computed with
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the physical probability (and not with the risk-neutral probability). Inverting the equations

above we obtain
]_ _
uzah—i—m/—p\/ﬁ, d=ah—o %\/ﬁ (21)
p —p

In the applications of the binomial model it is customary to give the parameters «, o and
then compute u,d using (21I). The risk-neutral probability then becomes

Grh _ eahfa, /%\/ﬁ (22)
= eah—i-tf 1%\/5 . eozh—a1 /%ﬂ‘

The binomial model is trustworthy only for h very small compared to T (i.e., N >> 1).

The following Matlab code defines a function EuroZeroBin(g, T, s, alpha, sigma, r, p,N) that
computes the initial price of the standard European derivative with pay-off Y = ¢(S(T))
using (20). The variable s is the initial price Sy of the stock. The function also checks that
q € (0,1), i.e., that the risk-neutral probability is well defined (and thus the market is free
of self-financing arbitrages). If not a message appears which asks to increase the number of
steps V.

function Pzero=EuroZeroBin(g,T,s,alpha,sigma,r,p,N)
h=T/N;

u=alphaxh+sigma*sqrt (h)*sqrt ((1-p)/p);
d=alphaxh-sigma*sqrt (h)*sqrt(p/(1-p));

qu=(exp (r*h)-exp(d))/(exp(u)-exp(d));

qd=1-qu;

if (qu<0 || qd<0)

display(’Error: the market is not arbitrage free. Increase the value of N’);
Pzero=0;

return

end

S=zeros(N+1,1);

P=zeros(N+1) ;

S=s*exp ((N-[0:N])*u+[0:N]*d) .’ ;

P(:,N+1)=g(S);

for j=N:-1:1

for i=1:j
P(i,j)=exp(-r*h)*(qu*P(i,j+1)+qd*P(i+1,j+1));

end

end

As shown in [2], the binomial price of the derivative is very weakly dependent on the pa-
rameter € R and p € (0,1) (provided N is sufficiently large, say N ~ 10000). Hence one
normally chooses &« = 0 and p = 1/2 in the implementation of the binomial model.
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0.3 Probability theory on uncountable sample spaces

In this section we assume that 2 is uncountable (e.g., 2 = R). In this case there is no general
procedure to construct a probability space, but only an abstract definition. In particular
a probability measure P on events A C € is defined only axiomatically by requiring that
0 <P(A) <1, P(Q) =1 and that, for any sequence of disjoint events Ay, As, ..., it should
hold

P(AjUAU...) =P(A)) + P(Ay) + ...

Moreover it is not necessary—and almost never convenient—to assume that P is defined for
all events A C 2. We denote by F the set of events (i.e., subsets of ) which have a well
defined probability satisfying the properties above.

Example. Let 2 = R. We say that A C R is a Borel set if it can be written as the union
(or intersection) of countably many open (or closed) intervals. Let F be the collection of all
Borel sets. Let p: R — R be a continuous non-negative function such that

/Rp(w) dw = 1.

P(A) = / plw) d (23)

defines a probability. If X : R — R is a random variables, the expectation of X in the
probability measure is given by

Then P : F — [0, 1] given by

E[X] = /RX(w)p(w) dz, (24)

provided the integral converges.

Fortunately for most applications (and in particular for those in financial mathematics) the
knowledge of the full probability space is usually not necessary, as in the applications one
is typically concerned only with random variables and their distributions, rather than with
generic events. More precisely, we are only interested in assigning a probability to events of
the form {X € I}, where X is a random variable on the (abstract) probability space and
I C R, that is to say, events which can be resolved by one (or more) random variables.

Remark 0.6. Even though {2 is uncountable, the image of X : 2 — R need not be
uncountable (e.g., X could be piecewise constant). To avoid technical complications we
assume in the following that Im(X) does not contain isolated points. We shall refer to these
random variables as continuum random variables. The only case of non-continuum
random variable that we allow in this section is when X is a deterministic constant, in which
case the image of X consists of one real number only.

The probability P(X € I) can be computed explicitly when X has a density.
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Definition 0.2. Let fx : R — [0,00) be a continuous function, except possibly on finitely
many points. A continuum random variable X : €2 — R is said to have probability density

Ix if
P(X €A = /Afx(x) dz,

for all Borel sets A C R.

Note that the density fx satisfies

/fo(x) dr =1

and the cumulative distribution Fx(x) = P(X < z) satisfies

dFx

Fx(z) = / fx(y)dy, forall z € R, hence fx = —

Example. A random variable X : 2 — R is said to be a normal random variable with
mean m € R and variance o2 > 0 if it admits the density

e(o) = s exp (—';Tm') | (25)

We denote N'(m, 0?) the set of all such random variables. A variable X € AN(0,1) is called
a standard normal random variable. The cumulative distribution of standard normal
random variables is denoted by ®(z) and is called the standard normal distribution, i.e.,

The following theorem shows that the probability density, when it exists, provides all the
relevant statistical information on a random variable.

Theorem 0.7. The following holds for all sufficiently requlaif| functions g : R — R:

(i) Let X : Q@ — R be a random variable with density fx. Then for all Borel sets A C R,

P(g(X) e A) = / fx(z)dx.

z:g(z)€A

(i) Let X : Q — R be a random variable with density fx. Then

E[g(X)] = / 9(y) fx(y) dy.

R
3In particular, for all functions g such that the integrals in the theorem are well-defined.

22



Moreover the properties 1,2,3 in Theorem still hold for continuum random variables.

By (ii) in Theorem , the expectation and the variance of a continuum random variable X
with density fx are given by

E[X] = /Rfo@) dv, Var[X] = /RfoX(x) dz — (/Rmfx(a:) dx)z. (26)

Applying to normal variables we obtain

X e N(m,0%) = E[X]=m, Var[X]=o" (27)

Joint probability density

Definition 0.3. Two continuum random variables X, Y : Q — R are said to have the joint
probability density fxy : R* — [0,00), if

P(X € AY € B) = / / fxy(z,y)dzdy,
AJB
for all Borel sets A, B C R.

Note that if fxy is a joint probability density, then

/R/fo’y(x’y) drdy =1.

Moreover if we define the joint cumulative distribution as Fxy (z,y) = P(X <z,Y <vy)
then

fxy(z,y) = 0.0,Fxy(z,y).
When X, Y have the joint density fxy(z,y), the random variables X, Y admit the densities

fx(@) = / Fex (o) dy,  fuly) = / Fey (o, y) do.

Example: Jointly normally distributed random variables. Let m € R? and C =
(Cij)ij=12 be a symmetric, positive definite 2x2 matrix. Two random variables X, X5 :
) — R are said to be jointly normally distributed with mean m and covariance matrix C'
if they admit the joint density

le,Xg(J:) = mexp (—%(w — m)C’-l(g; — m)) , forall z = (ZL‘l,ZEg) € R2.
(28)

The following theorem generalizes Theorem in the presence of two variables.
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Theorem 0.8. Let X,Y : Q — R be random variables with joint density fx and g : R*> — R.

(i) For all Borel sets A C R there holds

P(g(X,Y) € A) = / fxy(z,y)dzdy.

(z,y):9(x,y)€A

(i) There holds
Blo(X. V)] = | gle.u) v (e.y) de dy.

R2

By (ii) of Theorem , if X, X3 have the joint density fx, x,, then the covariance of X;, X;
can be computed as

COV(Xl, XQ) = E[XlXQ] - ]E[XﬂE[XQ]

= / x1x2fX17X2(‘r1,:C2) dl’l dl’z
R2

—/ l‘leLXQ(l'l,[EQ)d[L'l dZL'Q/ ngX17X2(ZE1,J]2)dl’1d$2.
R2 R2

In particular, if X, X, are jointly normal distributed with mean m € R? and covariance
matrix C' = (Cij)i,j=1,27 we find

m = (ml, mz), Cij = COV(XZ‘,X]‘). (29)

The following result on the linear combination of independent normal random variables will
play an important role for the project in multi-asset options in Chapter

Theorem 0.9. Let X1, Xo € N(0,1) be independent and a,b,c,d € R. Then aX; + bX, €
N(0,a® +b?). Moreover if

Y1=0aX; +bX5, Yy =Xy +dXs,

1= (e )

15 1tnvertible, then Y1, Ys are jointly normally distributed with zero mean and covariant matriz
C = AAT.

and if the matriz

Stochastic processes. Martingales

Let € be an uncountable sample space. A stochastic process is a one parameter family
{X(t) }+>0 of (continuum) random variables X (¢) : 2 — R. We denote X (t,w) = X (t)(w).
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The parameter ¢ is referred to as the time variable, since this is what it represents in the
applications that we have in mind. For each w € Q) fized, the function ¢t — X (¢,w) is called
a path of the stochastic process. If the paths are all the same for all w € €2, then we say that
X(t) is a deterministic function of time.

Martingale stochastic processes play a fundamental role in options pricing theoryﬂ To define
martingales on uncountable sample spaces, let Fx(t) denote the information accumulated
by “looking” at the stochastic process up to time t, i.e., the collection of events resolved by
X(s) for 0 < s < t. Intuitively, the stochastic process { X (t)}+>0 is a martingale if, based on
the information contained in Fx(s), our “best estimate” on X (t) for t > s is X(s), i.e., we
are not able to estimate whether the process will raise or fall in the interval [s,t] with the
information available at time s. This intuitive definition is encoded in the formula

E[X(t)|Fx(s)] = X(s), 0<s<t, (30)

which generalizes the definition of martingales in finite probability theory. The left
hand side of is the conditional expectation of X (t) with respect to the information
Fx(s), whose precise definition is not needed here. It can be shown that implies that
martingales have constant expectation.

Brownian motion

Next we recall the definition of the most important of all stochastic processes.

Definition 0.4. A Brownian motion, or Wiener process, is a stochastic process {W (t) }+>0
with the following properties:

1. For allf]w € Q, the paths are continuous (i.e., t — W (t,w) is a continuous function)
and W(0,w) = 0;

2. Forall0 =ty <t; <ty <..., the increments
W(tl) == W(tl) - W(to), W(tg) - W(tl), ey
are independent random variables and

E{W(tl+1> — W(tl)] = O7 Var[W(tHl) — W(tl)] = ti+1 — ti, fOT all 1= 0, 1, ey
3. The increments are normally distributed, that is to say, for all 0 < s < t,

P(W(t) — W(s) € A

1 y?
) = —/ 672(1&75) dy7
2n(t —s) Ja
for all Borel sets A C R.

4In fact, this theory is also called martingale pricing theory in some literature.
®More precisely, for all w €  up to a set of zero probability.
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It can be shown that Brownian motions exist, yet a formal construction is technically quite
difficult and beyond the purpose of this text.

Remark 0.7. Since the definition of Brownian motion depends on the probability measure P,
then a stochastic process {W(t) };>o which is a Brownian motion in the probability measure

P will in general not be a Brownian motion in another probability measure P. When we
want to emphasize that {W(t)};>0 is a Brownian motion in the probability measure P, we
shall say that {W(¢)}:>0 is a P-Brownian motion.

Remark 0.8. Letting s = 0 in property 3 in Definition we obtain that W (t) € N(0,1),
for all ¢ > 0. In particular, W(¢) has zero expectation for all times. It can also be shown
that Brownian motions are martingales.

The following result is used a few times in the following chapters.

Theorem 0.10. Let g : (0,00) — R be a differentiable function and let

Then

—2g(t)E {/0 g ()W ()W (s) ds}
—gpt+ [ [ G0 @Com (s, W(r)drds
— 2g(t) /0 ¢/ (5)Cov(W (s), W (t)) ds.

Using Cov(W(s), W(t)) = min(s,t), and after some technical but straightforward calcula-
tion, we obtain Var[X(¢)] = A(t). To show that X(¢) is normally distributed, let {t, =
0,...,t, = t} be a uniform partition of the interval [0,¢] and consider the Riemann sum
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approximation of X (¢):

n

Xa(t) = g(ta)W(ta) = Y (9(ts) — g(ti))W (1)

i=1

_ Z g(t)W (L) + Zg(ti—l)w(ti)

= Z gt)W(t;) + z_:g(tj)W(tj+1)7

where in the last step we used W (ty) = W(0) = 0 in the first sum and made the change of
index 7 =4 — 1 in the second sum. Hence

n—1
Xa(t) =) g(t) (W (tisr) = W(t:).
=0
Thus X, (t) is normally distributed because it is a linear combination of the independent
and normally distributed random variables W (t;11) — W(t;). It can be shown that this
property carries over in the limit n — oo and since X, () — X(¢) in this limit the proof is
completed. O

Remark 0.9. By using the formal identity d(g(t)W(t)) = ¢'(t)W (t)dt + g(t)dW (1), as well
as f; d(g(s)W(s)) = g(t)W (t), we can write the definition of X (¢) in Theorem as

X(t) = / g(5)dW (s),

which is called It6 integral of the deterministic function g(t).

Equivalent probability measures. Girsanov theorem

One further technical complication arising for uncountable sample spaces is the existence of
non-trivial events with zero measure, e.g., the event {IW(¢) = 0} that the Brownian motion
W (t) takes value zero when t > 0. We shall need to consider the concept of equivalent
probability measures:

Definition 0.5. Two probability measure PP, P on the events A € F are said to be equivalent
if P(A) =0« P(A) =0.

Hence equivalent probability measures agree on which events are impossible. Note that in a
finite probability space all probability measures are equivalent, as in the finite case the empty
set is the only event with zero probability. The following important theorem characterizes
the relation between equivalent probability measures on uncountable sample spaces and is
known as the Radon-Nikodym theorem. We denote 4 the characteristic function of the
set A € F, i.e., the random variable taking value [4(w) = 1 if w € A and zero otherwise.
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Theorem 0.11 (Radon-Nikodym theorem). Let P : F — [0,1] be a probability measure.
Then P : F — [0,1] is a probability measure equivalent to P if and only if there exists a
random variable Z : Q@ — R such that Z > 0 (with probability 1), E[Z] = 1 and P(A) =
E[Z14]. Moreover if P and P are equivalent then E[X] = E[ZX], for all random variables
X:Q—=R.

For example, assume €2 = R and that P and P are defined as in (23), namely

PA) = [ ) do, BA) = [ (o) do

where A is a Borel set and p, p are two continuous non-negative functions such that

/Rp(w) dw = /Rﬁ(w) dw=1.

Then, according to Theorem and , P and P are equivalent if and only if there exists
a function Z : R — R such that Z > 0, and

P(A) :/A'ﬁ(w) dw:/RZ(w)]IA(w)p(w) dw:/AZ(w)p(u)) dw.

As the equality [, p(w)dw = [, Z(w)p(w) dw has to be satisfied for all Borel sets A C R,
then p(w) = Z(w)p(w) must hold for all w € R (up to a set with zero probability).

Theorem 0.12 (and Definition). Let {W(t)}i>o be a P-Brownian motion. Given § € R
and T > 0 define
Ty = o~ OW(T)—50°T (31)

Then Po(A) = E[Zpll4] defines a probability measure equivalent to P, which is called Gir-
sanov’s probability with parameter 6 € R. for all Borel sets A C R.

Proof. The proof follows immediately from Theorem [0.11} since the random variable (31))
satisfies Zyp > 0 and

E[Z@] = E[G_QW(T)_%GQT] = / 6—01—%02T—67ﬁ dr = ].,
R 2nT

where we used the density of the normal random variable W (T') € N'(0,T) to compute the
expectation of Zp in the probability measure PP (see Theorem [0.7(ii)). O

Note that the Girsanov probability measure Py depend also on 7', but this is not reflected in
our notation. In the following we denote by Ey[-] the expectation computed in the probability
measure Py for 6 £ 0. When 6 = 0 then Py = P, in which case the expectation is denoted
as usual by E[-]. By Theorem we have Ey[X| = E[Z,X], for all random variables

28



X : Q — R. Moreover we now show that Ey[W (t)] = —6¢. In fact by the Radon-Nikodym
theorem we have

Eq[W ()] = E[ZyW (t)] = E[e™™V 20T (1)),

Adding and subtracting W (t) in the exponent of the exponential function we have

Eg[W(t)] _ ]E[efe(W(T)fw(t))f%92T679W(t)W<t)] _ ]E[efa(W(T)7W(t))f%92T]]E[€79W(t)W(t>]

Y

where in the last step we used that the random variables X = e 0W(T)=W(0)=30°T and

Y = e ™"®W(t) are independent (being functions of the independent random variables
W(T) — W(t) and W (t)). Using W(T) — W (t) € N(0,T —t) and W (t) € N(0,t), we can
compute the expectations of X and Y as

_1p2 1 S S _02
E[X]:e pLd T—/e V2= 5= dr =e 2t,
R

V2m(T —t)
1 sz 02y
e Tagdr =—e2'0L
V27t /R
Hence Ey[W ()] = E[X]E[Y] = —0t, as claimed. It follows that {W(t)}:>o is not a Py-

Brownian motion, since Brownian motions, by definition, have zero expectation at any time.
Now we can state a fundamental theorem in probability theory with deep applications in
financial mathematics, namely Girsanov’s theorem[}

E[Y] =

Theorem 0.13. Let {W(t)}1>0 be a P-Brownian motion. Given 6 € R and T > 0, let Py be
the Girsanov probability measure with parameter 6 introduced in Theorem [0.13. Define the
stochastic process {W @ (t)};s0 by

WO (t) = W(t) + 6t. (32)
Then {WO (t)};50 is a Pg-Brownian motion.

Note carefully that {W((¢)};5¢ is not a P-Brownian motion, as it follows by the fact that
E[W©®(t)] = 0t. In particular, according to the probability measure P, the stochastic process
{WO(t)}1>0 has a drift, i.e., a tendency to move up (if # > 0) or down (if # < 0). However
in the Girsanov probability this drift is removed, because, as shown before, Eo[W @ (1)] =
Eo[W(t)] + 6t = 0.

Multi-dimensional Girsanov theorem

We conclude this section with a generalization of Girsanov’s theorem in the presence of
two independent Brownian motions. This generalization is important for the project on
multi-asset options in Chapter )] We limit ourselves to state without proof the analogs of

Theorems [0.12 and required for this purpose.

6 Actually we consider only a special case of this theorem, which suffices for our purposes.
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Theorem 0.14 (and Definition). Let {W;(t) }i>0, {Wa(t) }+>0 be P-independent Brownian
motions. Given 0 = (0y,0;) € R* and T > 0 define

Zy = 6*91W1(T)*GQWQ(T)f%(G%JrO%)T' (33)

Then Py(A) = E[Zyl4] defines a probability measure equivalent to P, which is called Gir-
sanov’s probability with parameters 61,05 € R.

Theorem 0.15. Let {Wy(t)}is0, {Wa(t)}i>0 be P-independent Brownian motions. Given
0 = (01,0,) € R?> and T > 0, let Py be the Girsanov probability with parameters 01,0,

introduced in Theorem . Define the stochastic processes {Wl(e) () }e>o0, {W;e)(t)}tzo by
W (1) = Wi(t) + 0ut, WiP(t) = Walt) + 6t (34)

Then {Wl(g) () }i>0, {WQ(Q) (t) }i>0 are Py-independent Brownian motions.

0.4 Black-Scholes options pricing theory

In the binomial model the stock price at time ¢ is a finite random variable S(). In the Black-
Scholes model the stock price is a continuum random variable with image Im(S(t)) = (0, 00),
namely the geometric Brownian motion

S(t) = Spet o), (35)

The probability P with respect to which {WW(¢)};>¢ is Brownian motion is the physical (or
real-world) probability of the Black-Scholes market. Moreover « is the instantaneous
mean of log-return, o is the instantaneous volatility and o2 is the instantaneous
variance of the geometric Brownian motion

The geometric Brownian motion admits the density
H(z) 1 log z — log S(0) — «at)?
Fo () = (@) 1o (L 2() ")
V2mo?t T 20t
where H(z) is the Heaviside function. It can be shown that the binomial stock price

converges in distribution to the geometric Brownian motion in the time-continuum limit,
see [2].

(36)

The risk-neutral pricing formula in Black-Scholes markets
The purpose of this section is to introduce the definition of Black-Scholes price of European

derivatives from a probability theory point of view. Recall that the probabilistic formulation
of the binomial options pricing model is encoded in the risk-neutral pricing formula (18]). Our
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goal is to derive a similar risk-neutral pricing formula (at time ¢ = 0) for the time-continuum

Black-Scholes model.

Motivated by the approach for the binomial model, we first look for a probability measure
in which the the discounted stock price in Black-Scholes markets is a martingale (martingale
probability measure). It is natural to seek such martingale probability within the class
of Girsanov probabilities Py equivalent to the physical probability P which we defined in
Theorem|[0.12] To this purpose we shall need the form of the density function of the geometric
Brownian motion in the probability measure Py.

Theorem 0.16. Let 0 € R, T' > 0 and Py be the Girsanov probability measure equivalent to
the physical probability P. The geometric Brownian motion has the following density in
the probability measure Py:

f(g) (z) = H(z) 1 exp <_(logw —log So — (a — 90)t)2> ' (37)

V2ot z 202t
Proof. Since
S(t) = Soe TN = Gyele—ta WO gy Oy = W (t) + ot

and since {W® (¢)},50 is a Brownian motion in the probability measure Py (see Girsanov’s

Theorem [0.13)), then the density fgg) is the same as fg(;) with a replaced by a — 0. m

Let Eg[-] denote the expectation in the measure Py. Recall that martingales have constant
expectation. Hence in the martingale (or risk-neutral) probability measure the expectation
of the discounted value of the stock must be constant, i.e., Eg[S(t)] = Spe”. This condition
alone suffices to single out a unique possible value of 6.

Theorem 0.17. The identity Ey[S(t)] = Soe™ holds if and only if 0 = q, where

a—1r o
— 38
o +2 ( )

q =
Proof. Using the density of S(t) in the measure Py and we have

( (log x — log Sp — (a — 0o)t)” >daz.

BS) = [ ey )dr = —— |

202t
With the change of variable y = 8218 US\“/ (@=69)t gy = 2o/t t dy, we obtain
SO (U+af)
E.[S(1)] = _e(a—ﬁa)t +cr\/yd _ S e(a fo+% / )
z2
As \/%TT Jg € 7 dz =1, the result follows. O
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Even though the validity of Ey[S(t)] = Spe™ is only necessary for the discounted geometric
Brownian motion to be a martingale, one can show that the following result holds.

Theorem 0.18. The discounted value of the geometric Brownian motion stock price is a
martingale in the probability measure Py if and only if 0 = q, where q is given by .

The previous discussion leads us to the following definition.

Definition 0.6. Given a € R, 0 >0, r € R and T > 0, the probability measure

P,(4) = Bl WD 4PTL), 0T O
g

is called the martingale probability, or risk-neutral probability, in the interval [0, T]
of the Black-Scholes market with parameters a, o, r.

Remark 0.10. In the risk-neutral probability the stock price is given by the geometric
Brownian motion

S(t) = S(0)elr=TIeHW O, (39)

where, by Girsanov’s theorem, W@ () = W (t) 4 gt is a Brownian motion in the risk-neutral
probability. This follows by replacing a = r + go — 302 into (35)).

At this point we have all we need to define the Black-Scholes price of European derivatives
at time ¢ = 0 using the risk-neutral pricing formula.

Definition 0.7. The Black-Scholes price at time t = 0 of the Furopean derivative with
pay-off Y at maturity T is given by the risk-neutral pricing formula

Iy (0) = e ""E,[Y], (40)

1.€., it equals the expected value of the discounted pay-off in the risk-neutral probability mea-
sure of the Black-Scholes market.

In the case of standard European derivatives we can use the density of the geometric Brow-
nian motion in the risk-neutral probability measure to write the Black-Scholes price in the
following integral form.

Theorem 0.19. For the standard Furopean derivative with pay-off Y = g(S(T)) at maturity
T > 0, the Black-Scholes price at time t = 0 can be written as Iy (0) = vy(Sy), where Sy is
the price of the underlying stock at time t =0 and vy : (0,00) — R is the pricing function
of the derivative at time t = 0, which is given by

o2 d
vo(z) = e_TT/Rg(:Ue(T_NT”‘/Ty)e_;y \/% (41)
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Proof. Replacing 8 = ¢ in (37) we obtain that the geometric Brownian motion has the
following density in the risk-neutral probability measure P,:

H(z) 1 logx —log Sy — (r — Z)t)?
L ] (42
0\ = 5 202t
Using the density for t = T in the risk-neutral pricing formula we obtain
My (0) = € "B Y] = B o(S(TN] = | a(a)f{fp ) da
et [ g(x) (logz — log Sp — (r — "72)15)2
= exp | — dx.
V2no?tJo T 2021
With the change of variable y = logm_log:;‘)/;(a_ea)t we obtain
o2 dy
My (0) = e‘TT/ Soel=TTHVTY)e=30" Z2 — (),
v(0) Rg( 0 ) Von 0(So0)
as claimed. 0

Remark 0.11. Of course we are tacitly assuming that the pay-off function ¢ is such that
the integral in the right hand side of is finite.

For instance, in the case of the European call option with strike K and maturity 7', for which
the pay-off function is g(z) = (z — K);, Theorem [0.19] gives

Hcall(o) = CO(‘SO: Kv T)7 Co(.l’, K7 T) = xq)<d1) - KeirT(I)(d2> (433)

where ® is the standard normal distribution and

log £ + (r — Lo2)T
dzzogfﬁ(\;??g) . dy=dy+oVT. (43b)
g

Definition is only valid at time ¢ = 0. The risk-neutral pricing formula for ¢t > 0 is
Iy (t) = e "TIE[Y|Fs(t)], (44)

which generalizes to the time continuum case. The right hand side of is the expec-
tation of the discounted pay-off in the risk-neutral probability measure conditional to the
information available at time ¢, which in a Black-Scholes market is determined by the history
of the stock price up to time ¢t. It can be shown that in the case of the standard European
derivative with pay-off Y = ¢(S(7T')) at maturity 7', the risk-neutral pricing formula ({44))
entails that the Black-Scholes price at time ¢ € [0, 7] can be written in the integral form

-rT &2 42
f/% / g (:Ee(’"_T)Te"‘ﬁy> e zdy, T=T—t. (45)
R

Hence the pricing function v(¢,x) of the derivative at time ¢ is the same as the pricing
function at time ¢t = 0 but with maturity 7" replaced by the time 7 left to maturity,
which is rather intuitive.

Iy (t) = v(t,S(t)), where v(t,x) =
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0.5 The Monte Carlo method

The Monte Carlo method is, in its simplest form, a numerical method to compute the
expectation of a random variable. Its mathematical validation is based on the Law of
Large Numbers, which states the following: Suppose {X;};>1 is a sequence of i.i.d. random
variables with expectation E[X;] = p. Then the sample average of the first n components of
the sequence, i.e.,

- 1
X:E(X1+X2+“'+Xn)7

converges (in probability) to p as n — oo.

The law of large numbers can be used to justify the fact that if we are given a large number
of independent trials X7, ..., X,, of the random variable X, then

1
E[X] ~ E(Xl +Xo+ -+ X5).

To measure how reliable is the approximation of E[X] given by the sample average, consider
the standard deviation of the trials Xy, ..., X,:

n

1 _
= X - X;)2
SXx n—liz:;( )

A simple application of the Central Limit Theorem proves that the random variable

w—X
sx/vn

converges in distribution to a standard normal random variable. We use this result to show
that the true value u of E[X]| has about 95% probability to be in the interval

]

N S —
(X —1.96—, X + 1.96
vn

Vn

Indeed, for n large,

P (—1.96 <t
S

-X 196 L, dw
<1.96 ) ~ 2~ 0.95.
XV~ ) / Var
An application to Black-Scholes theory

Using the Monte Carlo method and the risk-neutral pricing formula , we can approximate
the Black-Scholes price at time ¢t = 0 of the European derivative with pay-off Y and maturity
T > 0 with the sample average

oY+ Y,

HY(O) =e T, (46)
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where Yi,...,Y, is a large number of independent trials of the pay-off. Each trial Y; is
determined by a path of the stock price. Letting 0 =ty < t; < --- <ty =T be a partition
of the interval [0, 7] with size t; — t;_1 = h, we may construct a sample of n paths of the
geometric Brownian motion on the given partition with the following simple Matlab function:

function Path=StockPath(s,sigma,r,T,N,n)

h=T/N;
W=randn(n,N) ;
g=ones (n,N) ;

Path=s*exp((r-sigma~2/2)*h.*cumsum(q’)+sigma*sqrt (h)*cumsum(W’)) ;
Path=[s*ones(1,n) ;Path];

Note carefully that the stock price is modeled as a geometric Brownian motion with mean of
log return a = r — 0?/2, which means that the geometric Brownian motion is risk-neutral,
see (42). This is of course correct, since the expectation in that we want to compute is in
the risk-neutral probability measure. The following Matlab code compute the Black-Scholes
price of a call option using the Monte Carlo method. The code also computes the statistical

error

Err = 1.96% (47)

of the Monte Carlo price, where s is the standard deviation of the pay-off trials.

function [price, conf95]=MonteCarloCall(s,sigma,r,K,T,N,n)
tic

stockPath=StockPath(s,sigma,r,T,N,n);
pay0ff=max(0,stockPath(N, :)-K);

price=exp (-r*T)*mean (pay0ff) ;

conf95=1.96*std (pay0ff)/sqrt(n);

toc

For instance, by running the command

[price, conf95] = MonteCarloCall(10,0.5,0.01, 10,1, 100,100000)
we obtain the output

price = 1.9976
conf95 = 0.0249

The calculation took about half a second. The exact price for the given call obtained by using
the formula is 2.0144, which lies within the confidence interval [1.9976 —0.0249, 1.9976 +
0.0249] = [1.9727,2.0225] of the Monte Carlo price. Remark: The formula is imple-
mented in Matlab by the function blsprice.

Control variate Monte Carlo

The Monte Carlo method just described is also known as crude Monte Carlo and can be
improved in a number of ways. For instance, it follows by that in order to reduce
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the error of the Monte Carlo price, one needs to either (i) increase the number of trials n
or (ii) reduce the standard derivation s. As increasing n can be very costly in terms of
computational time, the approach (ii) is preferable. There exist several methods to decrease
the standard deviation of a Monte Carlo computation, which are collectively called variance
reduction techniques. Here we describe the control variate method.

Suppose we want to compute E[X]. The idea of the control variate method is to introduce
a second random variable @) for which E[Q] can be computed ezactly and then write

E[X]=E[Y]+E[Q], whereY =X — Q.
Hence the Monte Carlo approximation of E[X] can now be written as

NY1_|_..._‘_YTL

E[X] .

+E[Q],

where Y7,...,Y, are independent trials of the random variable Y. This approximation
improves the crude Monte Carlo estimate (without control variate) if the sample average
estimator of E[Y] is better than the sample average estimator of E[X]. Because of (47), this
will be the case if (sy)? < (sx)?. It will now be shown that the latter inequality holds if
X, Q have a positive large correlation. Letting X, ..., X, be independent trials of X and
Q1,...,Q, be independent trials of (), we compute

n n

SUX-Q) - (X - Q)

=1

1 — 1
2:— Y—Y;2:
o = T X =

= (sx)* + (s@)* — 20(X, Q)

where C'(X, @) is the sample covariance of the trials (Xi,...,X,,), (Q1,...,Q,), namely

n

C(X,Q) = S (X - X)(@ - Q).

=1

Hence (sy)? < (sx)? holds provided C'(X, Q) is sufficiently large and positive (precisely,
C(X,Q) > so/V?2). As C(X,Q) is an unbiased estimator of Cov(X,Q), then the use of the
control variate () will improve the performance of the crude Monte Carlo method if X, Q)
have a positive large correlation. An application of this method to the Asian option is one
of the goals of the project in Chapter [3]
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Chapter 1

A project on the binomial model with
stochastic interest rate

In Section we have discussed the binomial options pricing model under the assumption
that the risk-free asset has constant interest rate. In this section we consider a binomial
market in which the interest rate of the risk-free asset is a stochastic process. For the sake of
concreteness we model the interest rate by the Ho-Lee model. This working example should
be enough to grasp the general theory.

1.1 The generalized binomial model

Let {M;}:—o.. ~ be a N-period generalized random walk with transition probabilities
pe(my—1) if my =my_1 +1
]P’(mt_l — mt) = 1-— pt(mt,l) if my=my_1 — 1 . (11)
0 otherwise

We consider a binomial market consisting of a stock with price

S(t) = Soexp {t <ﬂ) + (“ — d) Mt} . t=0,1,2,...N, (1.22)

2 2
together with a risk-free asset with value
B(t)=B(t—-1)(1+R(t—1)), t=1,2,...N,

where {R(t)}i—0.. n—1, R(t) > —1, is the discretely compounded interest rate process. By
iterating the previous equation it follows that

t—1

B(t) = By [ [(1 + R(k)). (1.2b)
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where By > 0 is the initial value of the risk-free asset. As 1+ R(t) > 0, then B(t) > 0 for
allt=0,...,N.

Remark 1.1. We may also introduce the continuously compounded risk-free rate process
{r(t)}t=o,..n—1 through the formula r(t) = log(1 + R(¢)), t = 0,...,N — 1. In terms of
r(t), we can write (T.2D) as B(t) = Byexp S.._y r(k), which in the case r(t) = r =constant
reduces to the formula B(t) = Bpe™ used in Section . For the study of the stochastic
risk-free rate binomial model it is preferable to work with the process {R(¢)}i—o.. n—1-

In the following we assume that the risk-free process {R(t)}i—o
respect to the generalized random walk {M;}i—o
{M,;}1—o,. N completely defines the state of the market.

The discounted value (at time ¢ = 0) of the stock in the market (1.2)) is defined as S*(t) =
By S(t), that is

.....

S(t)

SO =POSO = T RO AT RA) (AT RE=1)) (13)
where -
DO)=1, Dt)=]Ja+RE)™", t=1,....N (1.4)

is the discount process. The market (1.2)) is arbitrage free if there exist transition prob-

.....

this martingale probability is unique, the market is complete. We discuss below one example.

The Ho-Lee model

The literature abounds of stochastic models for the risk-free rate, see [I]. In this chapter we
shall study the (discrete) Ho-Lee model:

R(t) = a(t) + b(t)M;, where a(t) € R and b(t) >0, t=0,1,2,...,N —1. (1.5)

Since the minimum value of M, is —¢, then the condition R(#) > —1 is satisfied along all
paths if and only if
a(t) > b(t)t — 1, (1.6)

which will be assumed from now on. Our purpose is to prove that the market (1.2)), with the
risk-free rate given by the Ho-Lee model, is complete under simple conditions on the market
parameters.

Theorem 1.1. The market (1.2) admits a martingale probability measure if and only if the
functions a(t),b(t) are such that

et <1+a(t)—bt)t, and 1+a(t)+bt)t<e, (1.7)
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forallt =0,1,...,N — 1. Moreover, when it exists, the martingale probability measure is
unique and it is given by py(k) = q(k), where

L+a(t—1)+bt—1)k—¢?
Qt(k> - el — ed

where t = 1,... N,k € Im(M;_1) = {—-t+1,—t+3,...,t —3,t — 1}. Thus, under the
conditions (1.7)), the market (1.2)) is complete.

Proof. As {S*(t) }i—o....,
E[S*(t)| My, ..., M, 1] = S*(t—1), t=1,2,...,N. (1.9)

, (1.8)

~, it suffices to prove that

.....

As R(t) is measurable with respect to M;, the discount process can be taken out from the
conditional expectation in the left hand side of (1.9)), hence
E[S(t)| My, ..., M;_4] E[S(t)|M;_1]

E[S*(t)[ Mo, ..., My-1] = (14+ R(0))...(1+ R(t—1)) - (1+ R(0))...(1+ R(t—1))’

.....

..........

S(t — 1) and using that S(t — 1) is M;_;-measurable we obtain
S(t—1) S(t)

S(t)
S{-1)

BIS"OIMo, - Mol = o . A r RE = D) s — 1) ek
Next we use
S(t—l) B S*(t—l) S(t) :euTqLdequd(Mtthil)

(1+R(0)...(1+R(t—1) 1+Rt—-1) St-1)

P(Mt — Mt—l = 1‘Mt—1 = k’) = pt(k)7 P(Mt — Mt—l = _1’Mt—1 = kf) =1 —pt(kf)

Hence
* S* t_ 1) ut+d u—d _ 1
]E[S (t)|M0,...,Mt_1] = H—;%—(t—l)E[e 2 e 2 (M= My )|Mt_1]
-
— S (t—1 = 31— .
St = DT e (7 R T - nk)

Thus in order for p;(k) to be a martingale probability it must hold that

u+d
e 2

T+alt—1)+b(t— 1k (6
Solving the latter equation we find pi(k) = ¢ (k), where ¢, (k) is given by (1.8). Moreover

0 < q:(k) < 1 holds if and only if (1.7) are satisfied, which concludes the proof of the
theorem. O]

u—d

Spik) + e (1= ph)) = 1
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Remark 1.2. It is clear that the transition probabilities are constant if and only if b = 0
and a(t) = a(0), forallt =1,..., N —1, i.e., if and only if the risk-free rate is a deterministic
constant, in which case we go back to the standard binomial model.

Example. Let ag, by be constants such that by > 0 and ag > by — 1. When

_b

a(t) = a(0) :=ag, b(t) e t=1,...,N—1, (1.10)

the conditions (|1.7)) become
ed<1+a0—b0, e“>1+ao—|—b0
and the martingale transition probabilities read

_l4ag—e¢  ltag+ pof — e

k) =
) qt( ) eu_ed )

0
Ch( ) o _ od

fort=2,... N, ke {—t+1,—t+3,...,t—1}. We shall use this example later on.

European derivatives on the stock

Next we study the problem of pricing European derivatives in the market (|1.2]).

Definition 1.1. Assume that the market is complete (e.qg., the risk-free rate is given
by the Ho-Lee model and the conditions (1.7)) are verified). Consider a Furopean derivative
with maturity T = N and pay-off Y which is measurable with respect to My, ..., My (e.g.,
Y = g(S(N)) for a standard European derivative on the stock). The risk-neutral price of the
derivative is given by

Iy (t) = D) 'E[D(T)Y|M,, ..., M), t=0,...,T, (1.11)
where E denotes the (conditional) expectation in the martingale probability measure. In

particular, Iy (0) = E[D(T)Y] and Iy (T) =Y.

For example, the zero coupon bond (ZCB) with face value K and maturity 7" is the
European style derivative that promises to pay K at time 7. It follows by Definition [1.11
that the value of the ZCB at time ¢ is given by

Bg(t,T) = KD(t)""E[D(T)|My,...,M,] t=0,...,T=N.
When K =1 we denote Bg(t,T) simply as B(t,T'), that is
B(t,T) = D(t)"'E[D(T)|M,,..., M), t=0,....T. (1.12)

Clearly, Bi(t,T) = KB(t,T). Moreover the following variant of the put-call parity holds in

the market :
Hean(t) — My (t) = S(t) — KB(t,T). (1.13)
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Task 1.1 (*). Prove (1.13]).

Example in the 3-period model with Ho-Lee risk-free rate. Consider a binomial
stock price with N = 3, u = —d = 0.07, Sy = 10 and a Ho-Lee model for the interest rate
with parameters

a(0) = Ry = 0.03, a(1)=0.05, a(2)=0.04, b(1)=0.02, b2)=0.01.

The martingale transition probabilities are

1—|—R0—€d
1 1) +b(1) — e
p(1) = LD FID) = g0
e —e
1 1) —b(1) — e
po(—1) = LD A =T o6
et —e
1 2) + 2b(2) — e
g(2) = L@+ 5) C —0.9107
er —e
1+a(2) — e
0) = ——————— = 0.7680
Q3() eu_ed
1 2) — 2b(2) — e
po(—2) = LA 2R = o
er —e

As q;(k) € (0,1), the market is complete. The binomial tree for the stock price in the
martingale probability is as follows

S(3) = 12.3368
q3(2)

5(2) = 11.5027

210)) %

S(1) = 10.7251 S(3) = 10.7251

q1(0) 1—g2(1) y

S(0) = 10 §(2) = 10
S(1) = 9.3239 S(3) = 9.3239
w q3(—2)
S(2) = 8.6936

1—q3(—2)

S(3) = 8.1059



The binomial tree for the interest rate is

)
—
[\
N~—
I
)
-]
D

1) = 0.07

R(

R(0) = 0.03

K

=
[\

) = 0.04

= 0.03

w

R(2) = 0.02

The discount process in the martingale probability has the following distribution

1
D(0)=1, D(1)=-———=0.9709, with prob. 1
(0)=1, D(1) 1+ R(0) ,  with prob. 1,
D(1) DW_ _ 0.9074, with prob. ¢;(0)
D)= g =1 B _ o onrs R
1+ R(1) Zh0s = 0.9426  with prob. 1 — ¢1(0)
LTE = 0.8560, with prob. ¢;(0)g2(1)
(3) = D(2) _J tige; =0.8725 with prob. ¢(1)(1 — g2(1))
1+ R(2) ﬁ = 0.9063 W%th prob. (1 —¢1(0))g2(—1)
016 —0.9241  with prob. (1 — q(0))(1 — go(—1))

Now assume that we want to compute the initial price of a call option on the stock with
strike K = 10 and maturity 7" = 3. According to Definition this price is given by

11(0) = E[D(3)(S(3) — 10).],

where the expectation is in the martingale probability ¢; (k). To compute this expectation
we need the joint distribution of the random variables D(3),S(3). Using our results above
we find that this joint distribution is given as in the following table:

D(3) 1, 5(3) — 12.3368 10.7251 9.3239 8.1059
0.8560 q1(0)g2(1)q3(2) 91(0)g2(1)(1—q3(2)) 0 0
0.8725 0 91(0)(1—q2(1))q3(0) 91(0)(1—g2(1))(1—q3(0)) 0
0.9063 0 (1—41(0))g2(=1)q3(0) (1—41(0))a2(=1)(1—q3(0)) 0
0.9241 0 0 (1-41(0))(A=g2(=1))a3(=2) | (1-4q1(0))(A—g2(=1))(1—q3(=2))

We conclude that

T1(0) = 0.8560[(12.3368 — 10)q1 (0)g2(1)gs(2) + (10.7251 — 10)g3(0)g2(1)(1 — ¢5(2))]
+0.8725(10.7251 — 10)g1(0)(1 — g2(1))g3(0) + 0.9063(1 — 1 (0))ga(—1)g3(0) = 1.4373.
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Task 1.2 (*). In the example just considered compute the possible prices of the call at times
t=1,2.

For future purpose we also compute the initial price of the ZCB expiring at time 7' = 3.
According to (1.12), the value at time ¢t = 0 of the ZCB with face value 1 is given by
B(0,T) =E[D(T)]. Hence

B(0,3) = IE[D(B)] =0.8560¢1(0)ga2(1) + 0.8725¢; (0)(1 — g2(1))

+0.9063(1 — q1(0))ga(—1) + 0.9241(1 — g1 (0))(1 — go(—1)) = 0.8731.
(1.14)

1.2 Forward and Futures

Forward contracts

A forward contract with delivery price K and maturity (or delivery) time 7" on an asset
U is a European type financial derivative stipulated by two parties in which one promises to
the other to sell (and possibly deliver) the asset U at time T in exchange for the cash K.
As opposed to option contracts, both parties in a forward contract are obliged to fulfill their
part of the agreement. In particular, as they both have the same right/obligation, neither
of the two parties has to pay a premium to the other when the contract is stipulated, that is
to say, forward contracts are free; in fact, the terminology used for forward contracts is “to
enter a forward contract” and not “to buy/sell a forward contract”. The party who must
sell the asset at maturity holds the short position, while the party who must buy the asset
is the holder of the long position. Hence the pay-off for a long position in a forward contract

on the asset U is
Yiong = (HU<T) - K)a

while for the holder of the short position the pay-off is
Yanort = (K — TI*(T)).

Forward contracts are traded OTC and most commonly on commodities or market indexes,
such as currency exchange rates, interest rates and volatilities. In the case that the underlying
asset is an index, forward contracts are also called swaps (e.g., currency swaps, interest rate
swaps, volatility swaps, etc.).

One purpose of forward contracts is to share risks. Irrespective of the movement of the
underlying asset in the market, its price at time 7" for the holders of the forward contract
will be K. The delivery price agreed by the two parties in a forward contract is also called
the forward price of the asset. More precisely, the T-forward price Fory(¢,T) of an asset
U at time t < T is the strike price of a forward contract on U stipulated at time ¢ and with
maturity 7', while the current, actual price II¥(¢) of the asset is called the spot price. Note
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that the forward price Fory (¢, T) is unlikely to be a good estimation for the price of the asset
at time 7', since the consensus on this value is limited to the participants of the forward
contract and different parties may agree to different delivery prices. The delivery price of
futures contracts on the asset, which we define in the next section, gives a better and more
commonly accepted estimation for the future value of an asset.

Theorem 1.2. Suppose that the market {I1%(t), B(t) }i=o...n is given by (1.2)) (with S(t) =
1I%(t) ) and that the market is complete. The forward price of the assetU for delivery at time
T = N 1is given by

FOI“(,{ (t, T) =

(1.15)

where B(t,T) is given by (L.12)), that is to say, B(t,T) is the risk-neutral price at time t of
the ZCB with face value 1 and expiring at time T

Proof. The proof is very simple. First we remark that having a long position on a forward
contract with maturity 7" and delivery price K is equivalent to hold a portfolio which is long
1 share of the call on the asset and short 1 share of the put on the asset, both options with
maturity 7" and strike price K. Indeed, irrespective of the price of the asset at time 7', this
portfolio entails that we will buy the asset at time T for the price K. Hence if we denote
by F(t),C(t), P(t) the arbitrage-free value at time ¢t < T of the forward contract, the call
option and the put option respectively, then it must hold

C(t) — P(t) = F(t).
On the other hand, by the put-call parity (1.13)),
C(t)— P(t) =11(t) — KB(t,T).

As forward contracts have zero value, then F'(¢) = 0 must hold, which is the case if and
only if K = TI(t)/B(t,T). By definition of forward price, this completes the proof of the
theorem. ]

For instance, in the 3-period market model considered in Section 1.1} we have found B(0, 3) =
0.8731, see (1.14)). Hence the 3-forward price at time ¢ = 0 of the stock in that market is
For(0,T) = S(0)/B(0,3) = 10/0.8731 = 11.4534.

Futures

Futures are standardized forward contracts, i.e., rather than being OTC, they are negotiated
in regularized markets. Specifically, a futures market is a market in which the object of
trading are futures contracts. Unlike forward contracts, all futures contracts in a futures
market are subject to the same regulation, and so in particular all contracts on the same
asset with the same time of maturity 7" have the same delivery price. The T-future price
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Figure 1.1: Futures price of corn on May 12, 2014 (dashed line) and on May 13, 2014
(continuous line) for different delivery times

Futy (t,T) of the asset U at time ¢ < T is defined as the delivery price at time ¢ < T in
the futures contract on the asset & with maturity 7. Futures markets have been existing
for more than 300 years and nowadays the most important ones are the Chicago Mercantile
Exchange (CME), the New York Mercantile Exchange (NYMEX), the Chicago Board of
Trade (CBOT) and the International Exchange Group (ICE).

In a futures market, anyone (after a proper authorization) can stipulate a futures contract.
More precisely, holding a position in a futures contract in the futures market consists in the
agreement to receive as a cash flow the change in the future price of the underlying asset
during the time in which the position is held. The cash flow may be positive or negative.
In a long position the cash flow is positive when the future price goes up and it is negative
when the future price goes down. Moreover, in order to alleviate the risk of insolvency,
the cash flow is distributed in time through the mechanism of the margin account. For
example, assume that at ¢t = 0 we open a long position in a futures contract expiring at time
T. At the same time, we need to open a margin account which contains a certain amount of
cash (usually, 10 % of the current value of the T-future price for each contract opened). At
t = 1 day, the amount Futy(1,7) — Futy,(0,7) will be added to the account, if it positive,
or withdrawn, if it is negative. The position can be closed at any time ¢ < 7' (multiple of
days), in which case the total amount of cash flown in the margin account is

(Futy(t,T) — Futy(t — 1,7)) + (Futy(t — 1,T) — Futy(t — 2,T))+
R (Futu(l, T) — Futu((), T)) = (Futu(t, T) — Futu(O, T))

If a long position is held up to the time of maturity, then the holder of the long position
should buy the underlying asset. However futures contracts are often cash settled and not
physically settled, which means that the delivery of the underlying asset does not occur,
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Figure 1.2: Futures price of natural gas on May 13, 2014 for different delivery times

and the equivalent value in cash is paid instead.

Our next purpose is to introduce the definition of arbitrage-free future price of an asset. Our
strategy is to show is that any reasonable definition should satisfy 3 standard conditions and
then show that these conditions define uniquely the future price as a stochastic process.

For simplicity we argue under the assumption that the underlying asset & and the money
market make up a complete market of the form (1.2)) with S(¢t) = II%(¢) and T = N. As
the generalized random walk {M;}:—o _n contains all the information about the state of the
market, we are naturally led to impose the following first condition on the future price.

Assumption 1. The future price process {Futy(t,T) }1—o.. r—n is measurable with respect
to {M;}1=o,...~-

For the next assumption we need to define the concept of self-financing portfolio process
invested in the futures contract and the money market. Consider a portfolio process that, at
time ¢ < T, consists of h(t) shares of the futures contract expiring at time 7" and hy1(t) shares
of the ZCB maturing at time ¢ + 1. As the ZCB has very short time left to maturity, then
hi(t+1) is our position on the money market (recall that the money market consists of short
term loan assets). We assume that the portfolio process is predictable from { M} n. As
futures contracts have zero value, the value of the portfolio at time ¢ is simply the money
market account:
it (1)

V(t) = hea(®B( 1 +1) = TR

At time t + 1 the portfolio generates the cash flow

C(t+1) = heya(t) + h(t) (Futy(t + 1,T) — Futy (¢, T))
= V(t)(1+ R(t)) + h(t)(Futy(t + 1,T) — Futy(¢,T)).
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In a self-financing portfolio this cash should be immediately re-invested in the money mar-
kefl] Hence O(t + 1) = hypo(t + 1)B(t + 1,t +2) = V(¢ + 1). It follows that

h(t)(Futy(t +1,T) — Futy (¢, 7)) =V({t+1)— 1+ R)V(t)=V(t+1) — %V(t)
=D(t+ 1) D+ 1)V (t+1)— D)V ().
Hence
h(t)D(t + 1)(Futy(t + 1,T) — Futy(t,T)) = V*(t + 1) — V*(t). (1.16)

Definition 1.2. A predictable portfolio process invested in the futures contract and the money
market is said to be self-financing if its discounted value satisfies (1.16]).

Now, by the arbitrage-free principle, any self-financing portfolio invested in futures and in the
money market should not be an arbitrage. We have seen that this condition can be achieved
by imposing that the discounted value of predictable self-financing portfolio processes is a
martingale. This holds in particular if

E[V*(t + 1)| M, ..., M] = V*(t),

for all t = 0,...,7 — 1. Hence, taking the conditional expectation of both sides of (|1.16]
with respect to My, ..., M,;, we obtain

h(t)D(t+1)E[Futy (t+1,T) —Futy(t, T)| Mo, . .., My] = E[V*(t+1) = V*(t)| Mo, . .., M;] = 0,

where we used that h(t) and D(t + 1) are measurable with respect to My, ..., M; and thus
can be taken out from the conditional expectation. By Assumption 1 we have

E[Futy(t + 1,T) — Futy(t, T)| Mo, ..., My] = E[Futy(t + 1,T)| Mo, . .., My] — Futy (¢, T).
Hence the market is free of self-financing arbitrages if we assume the following.

Assumption 2. The future price satisfies

E[Futy(t + 1,T)|Mo, ..., My = Futy(t,T), t=0,...,T —1.

The last natural assumption is that the future price at maturity t = T" should coincide with
the spot price II(T) of the asset, i.e.,

Assumption 3. Futy(7,7T) = II(T).

Theorem 1.3. There is only one stochastic process {Futy(t,T)}i—o. 1 that satisfies As-

sumptions 1-3, namely

77777

Futy(t, T) = E[II(T)|M,, ..., M. (1.17)

I This is the only possibility, as changing position on the futures contract costs nothing.
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Proof. The proof that (1.17)) satisfies 1-3 follows easily by the properties of the conditional
expectation. Now, Assumptions 2-3 imply directly that (1.17) holds at time t =T — 1, for

Futy (T — 1,T) = E[Futy (T, T)|M,, . .., My_1] = E[II(T)| M, . .., Mr_1],

where we used Assumption 2 with ¢ = T — 1 in the first equality, and assumption 3 in the
second equality. Now the proof of the theorem can be easily completed by induction. O

As an example, consider again the 3-period model in Section [I.1. The 3-future price at time
t = 0 of the stock in that market is

Fut(0,3) = E[S(3)] = ¢1(0)g2(1)g3(2)12.3368
+ [q1(0)g2(1)(1 — ¢3(2)) + 2 (0)(1 — ¢2(1))g3(0) + (1 — ¢1(0))g2(—1)g5(0)]10.7251
+ [ (0)(1 = g2(1))(1 = ¢3(0)) + (1 = q1(0))g2(—1)(1 — ¢3(0))
+ (1 —q1(0)(1 — g2(—1))g3(—2)]9.3239
+ (1= q@(0)(1 = g2(—=1))(1 — g3(—2))6.1059 = 11.6039
Recall that the 3-forward price at time ¢t = 0 of the same stock is 11.4534, which was

computed at the end of Section [[.2] The general relation between forward and future price
of an asset is given in the following theorem.

Theorem 1.4. The Forward-Future spread of an asset, i.e., the difference between its
forward and future price, satisfies

Cov[D(T), 11(T)
E[D(T)]

Fory(0,T) — Futy(0,7) =

Y

where Cov is the covariance in the risk-neutral probability. Moreover if the interest rate of
the money market is deterministic then Futy(0,T) = For(0,T).

Task 1.3 (*). Prove the theorem.

Task 1.4 (Matlab). Write a Matlab code that compute the future price at time t =0 of an
asset in the market @ , where the risk-free rate follows the Ho-Lee model with functions
a(t),b(t) given by (L.10). Study how the future price curve T — Futy/(0,T") depend on
the parameters ag,by. Hint: Letting x = {—1,1}" be a possible path for the price of the
underlying asset, we have

Futy (0,7) = E[IY(T)] = Y P(a)I!(T,x) (1.18)
ze{-1,1}V
where 4 4
(T, z) = TI%(0) exp (TU; + u; (x1—|-..._|_IT))

15 the asset price at time T along the path x and ]ﬁ’(m) is the risk-neutral probability of
realization of the path x, which is computed according to . To apply you need to
create all 2 elements x € {—1,1}Y, which is possible only for a relatively small number of
steps (up to, say, N =~ 20).
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Chapter 2

A project on the trinomial model

As opposed to the binomial options pricing model, the trinomial model is an incomplete
model, that is to say, the risk-neutral price of European derivatives in a trinomial market
is not uniquely defined. Some scholars believe that real markets are incomplete, due to the
fact that investors assign different values to the market price of risk (i.e., choose a different
risk-neutral probability to price European derivatives). In this project the trinomial model
is studied in details, in particular regarding the problem of pricing and hedging European
derivatives by “almost” self-financing and hedging portfolios.

2.1 The trinomial model

In the trinomial model the stock price is allowed to move in three different directions at each
time step, namely S(0) = Sy > 0 and

S(t—1)e* with prob. p,
S(t) =< S(t—1)e™ with prob. p,, t=1,..., N,
S(t—1)e? with prob. pg

where u > m > d, 0 < Py, Pm,pa < 1 and p, + pm + pa = 1. The risk-free asset has value
B(t) = Bpe™, where r is constant.

The possible prices of the stock at time ¢t =0, ..., N satisfy
S(t) € {SpeNeWurNa®d+(t=Nu()=Na@®)m £ N (1), Ny(t) = 0,...,t and N, (t) + Ny(t) < t}.

It follows that the number of possible stock prices at time ¢ is

t t—Ny t t
Y 1= (=Nt )=@+t+t+1- > N,
Ny=0 Ng=0 Ny=0 Ny=0
t+ 1)t t+1)(t+2
:(t+1)t+t+1—( J; o )2( i ).
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Thus the number of nodes in the trinomial tree grows quadratically—while we recall that
for the binomial model this grow was linear (¢ + 1 possible prices at time ¢). To reduce the
number of nodes in the trinomial tree we shall assume from now on that the recombination

condition holds:
_u+ d

2
and thus restrict the trinomial stock price to the form

S(t—1)e*  with prob. p,
u+d

S(t)=<¢ S(t—1)e 2 withprob. p,, t=1,...,N, (2.1)
S(t—1)e?  with prob. p,

with w > d. In this case the possible stock prices at time ¢ belong to the set
{Soe(u—d)(Nu(t)—Nd(t))/2+(u+d)t/2)’ Nu(t), Ng(t) = 0,...,t},

which contains 2¢ + 1 elements. Hence the number of nodes of the trinomial tree with
the recombination condition grows linearly, as for the binomial model. In the following we
restrict to this case for simplicity.

Probabilistic formulation. Let Q = {—1,0,1}". Given p = (pu,Pm,pa) such that 0 <
Dus Pm>Pa < 1 and py, + pm + pa = 1, we define the probability P, on the sample space €2 by
letting

w w), N—(w
P,(w) = plY+@pNo@) =),

where Ni(w) is the number of 1 in the sample w and Ny(w) = N — Ny(w) — N_(w) the
number of 0’s. The trinomial stock price can be regarded as a stochastic process in the
probability space (€2,IP,). To see this let the stochastic process {X;};—1. n be defined on
w=(71,-.-,7n) € Qas X(w) =, that is

.....

1 ify =1
Xi(w)=< 0 ifyp=0 . (2.2)
1 ify=1

Note that the random variables Xi,..., Xy are independent and identically distributed
(i.i.d.). We can write (2.1) as

ﬂwzsu—lmn{(“;d)+<u;d>X4. (2.3)

[terating the previous identity, the trinomial stock price at time ¢t =1,..., N is
u+d u—d
S@%=%@®P( 5 )+< 5 )&},észrw~+x; (2.4)

Hence S(t) : € — R and {S(¢)}+—0...~ is a stochastic process on the probability space
(Q,P,). Letting Zy = 0, the process {S(¢)}+—o...n is measurable with respect to {Z;}+—o,. n-
Moreover we have the following analogue of Theorem [0.4]
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Theorem 2.1. The probability measure P, is a martingale measure if and only if p = q =
(Qua qm, Qd); where (QUa qm, Qd) S(lt?:Sfy

u+d d

que" + gme 7+ qae’ =€, (2.5a)
Qu + Gm + g4 = 17 (25b>
0 < Gu, @m,qq < 1. (2.5¢)

Task 2.1 (*). Prove the theorem.

We remark that there exists infinitely many triples that satisfy (2.5). Indeed the solution

of (2.5a)-(2.5b]) can be written in parametric form as

d d/2 el — er eu/2

qm = W, {4 =

e —e e
d_ Youn dj2’
ev — e eu/2 4 ed/

Qu = et — ed - u}eu/2 + ed/2 (26)
and, under suitable conditions on the market parameters r,u,d and the free parameter w,
all such solutions define a probability, i.e., they satisfy (2.5c|). Note also that in the limit
w — 0 the trinomial model reduces to the binomial model and the solutions ([2.6) converge

to the martingale probability measure of the binomial model.

Task 2.2 (*). Letr >0, u > 0 and u = —d. Show that the triples (2.6) satisfy (2.5c|) if and
only if

u

et —e"

u>r and 0<w< .
ev —1

The existence of a martingale probability measure ensures that the trinomial market is free
of self-financing arbitrages, see Remark [0.3] However the non-uniqueness of such measure
prevents to fix uniquely the price of European derivatives. Some practitioners have a positive
view of this property of the trinomial model, since the freedom in choosing the parameter w
can be used to better calibrate the model. However, regardless of which martingale measure
one chooses, it is generally not possible to hedge European derivatives self-financially, that
is to say, the trinomial model is incomplete (see Remark . To see this, consider a one-
period model with v = —d and a derivative with pay off Y = g(S(1)). A (constant) portfolio
(hs, hp) hedging the derivative should satisfy hgS(1) + hBoe™ = g(S(1)) for all possible
values of S(1). This leads to the three equations

hSSoe“ + hBB()GTt = g(Soe“),
hsSo + hBB()GTt = g(So),
hsSoe ™ + hpBye™ = g(Spe™).

This system has a solution (hg, hp) if and only if
g(Soe™) — g(So)e ™ — g(So) + g(See")e ™ = 0,
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which is satisfied only for very particular choices of the pay-off function and of the market
parameters. For instance for a call option with strike K = Sy, the latter equation becomes

(eiu — 1)+ + (eu — 1)+€7u = 0,

which has the only solution v = 0.

Incomplete models, of which the trinomial model is just an example, are investigated exten-
sively by scholars and the community is divided among those who believe that incomplete
models should be rejected and others who instead believe that real markets are incomplete
and therefore incomplete models are more realistic.

2.2 Pricing and hedging in incomplete markets

The most common approach to incompleteness is to accept it as an attribute of real markets.
That is to say, in real markets there is no only one acceptable fair price for financial derivatives
and moreover financial derivatives cannot be perfectly hedged by self-financing portfolios.
Let’s discuss how the trinomial model can address these two properties.

Pricing

In the incomplete trinomial model there exist infinitely many martingale measures (qy, Gm, 44),
see . Each martingale measure gives rise to a different price for the European deriva-
tive with pay-off Y at maturity 7' = N; denoting by E, the expectation in the probability
measure and by Ily (¢, w) the price of the derivative derived from this measure, we have

Dy (1) = "D [¥]S(1). ... S(0)]
Task 2.3 (*). Prove the recurrence formula Iy (N,w) =Y,

My (t,w) = e "[qI% (t + 1, w) + @It + 1, w) +qall&(t +1,w)], t=0,...,N—1. (2.7)

In Task [2.4] below it is asked to compute IIy (0,w) with Matlab using the recurrence for-
mula (2.7). To simplify the analysis we assume that the parameters of the trinomial model
are

u=—-d, 0<r<u, p,=ps=pc€0,1/2). (2.8)
Thus ([2.3)) becomes

—1 with prob. p
S(t)=S{t—-1e"*, X,=4 0 withprob. 1 —-2p . (2.9)
1 with prob. p
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Moreover, according to Task [2.2] for each value

et — e
O<w< = Wax (T, U),
pr— Winax (7, 1)
we have the martingale probability defined by
T _e U 7’“‘/2 u __ pT u/2
e"—e e e' —e e
qQu = el — o= u _weu/2+e_u/27 dm = W, (g4 = pTR— —weu/2+6_u/2. (210)

Now let 0 =ty < t; < --- < ty = T be a uniform partition of the interval [0, 7] with size
ti - ti—l = h. Define S(O) = S(] and

S(t;) = S(ti1)e", i=1,...,N, (2.11)

where the random variables X, ..., Xy are given by (2.9). The instantaneous variance of
the stock is defined, as for the binomial model, by

1 2
o EVarp[log S(t;) —log S(ti—1)] = Epu2. (2.12)
Having chosen u = —d, the instantaneous mean of log return is zero. The interest rate on

each period becomes rh and, according to (2.12), u = ,/2—};0. It is easy to see that

Wmax (Th, ia) — 1, ash — 07,
\ 2p

Hence provided h is sufficiently small we can assume that 0 < w < 1. Moreover the recurrence
formula (2.7) becomes Ily (ty,w) =Y, and

Hy(ti, UJ) = e_rh[quﬂﬁ(tiﬂ,w) + qunYl(tiJrl, (JJ) + Qng/(tiJrl; (JJ)], 1= 0, . ,N — 1. (213)
Task 2.4 (Matlab). Write a Matlab function
EuroZeroTrin(g,T,s, sigma, r, p, omega, N)

that computes the trinomial price at time t = 0 of the standard European derivative with pay-
off Y = g(S(T')) when w € (0,1) is fized. Show numerically that the result depends on the
probability p. Plot the curves w — Iy (0,w) for different values of p and show numerically
that the binomial and the trinomial price converge to the same value as N — oo only for
w = 1—2p. For this value of w, study the speed of convergence to the Black-Scholes price
as N — oo for different values of p € (0,1/2) and look for the value p. that gives the fastest
convergence. Show that the trinomial model converges to the Black-Scholes price faster than
the binomial model.
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Hedging

European derivatives in the incomplete trinomial model cannot, in general, be hedged by
self-financing portfolios. It is not hard to believe that this is often the case in real markets,
which marks a point in favor of using incomplete models for real-world applications.

As hedging portfolios in incomplete markets cannot be, in general, self-financing, then we
have to allow for cash-flows into the portfolio. Of course some restrictions in the cash flow
are necessary, otherwise we could hedge the derivative by simply adding the cash required
to pay-off the buyer just before the derivative expires. Here we discuss an approach for
hedging in incomplete markets that can be seen as the “best approximation” to the usual
self-financing strategy. For simplicity we restrict ourselves to the 2-period model.

The equations defining a self-financing hedging portfolio for the derivative with pay-off Y =
g(S(2)) in a 2-period trinomial model are

hs(2)S(2) + hp(2)B(2) = ¢(S(2)) (Hedging condition)

hs(2)S(1) + hp(2)B(1) = hg(1)S(1) + hp(1)B(1),
We assume the values (2.8) for the market parameters. This implies in particular that the
possible stock prices at time 1 are given by Spe’®, for j = —1,0,1. We denote by hg(2, j)
the portfolio position on the stock in the interval (1, 2] assuming that the stock price at time

1 is Spe’, and with similar meaning we define hp(2,7). Hence the full portfolio process is
described by 8 variables, namely

hS(271)a h5(270)a hS’(Q a_l)ahS(l)a hB(l)

The hedging/self-financing conditions are equivalent to the following 12 equations:

(Self-financing condition)

a_l)a hB(271)a hB(2,0), h‘B(2

h5(2 1)Spe™ + hp(2,1)Bye* = g(Spe®*) )
(2, ]_)S()Gu + hB(2, 1)B062T = g(Soe“)
(2, 1)50 + hB(Q, 1)B062T = g(So)
5(2, O)So@u + hB<2, O)BO€2T = g(Soe“)
hs(2,0)S0 + hg(2,0)Bye* = g(So) Hedging condition
h5(2, 0)506_u + hB(Z, 0)B0€2T = g(Soe_“)
h5(2, )S() + hB(27 —1)B0€2r = g(So)
h3(2, 1)5’067u + hB(Q, —1)B062T = g(Soe*")
hs(2,—1)Spe 2" + hp(2, —1)Boe* = g(Spe*) )
h5<2, ]_)S()Gu + hB(Q, 1>B()6T = hs(l)Soeu + hB(]_)B()Gr
hs(2,0)So + hp(2,0)Boe” = hg(1)Sy + hp(1)Bye” Self-financing condition

hs(2, —1)Spe

4 hp(2, —1)Boe” = hs(1)Spe "

+ hB(l)Boer

or, in a more concise form,

hS(Qaj)Soe(j+k)u + hB(27j)€2T = g(SOG(j+k)u)7 (214)
hs(2,7)See™ + hp(2,7)e" = hs(1)e’™ + hp(1)Bpe”  where j=—1,0,1, k= —1,0,1.
(2.15)
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The system of 9 equations for the hedging condition can be written in matrix from as Ax =y

where
hs(2.1) e )
hs(2,0) 9(50c™)
hs(2, —1) Q(SOZ

hg(2,1) 8 9(50c") 9
X = hs(2.0) € R®, y = g(So_)u eR

hp(2,—1) 9(50e”")

hs() o),

hB(l) 9(5067 )

9(Soe™?")

and A is the 9 x 8 matrix given by

Spe® 0 0 Boe?™ 0 0 00
Soe™ 0 0 Boe*™ 0 0 00
So 0 0 Boe™ 0 0 00
0 Soe" 0 0 Bee* 0 00
A= 0 So 0 0 Bee*™ 0 00
0 Spe™ 0 0 Bee*™ 0 00
0 0 So 0 0  Bee* 0 0
0 0 Sope™ 0 0 Bee™ 00
0 0  See 0 0  Bee* 0 0

The system of 3 equations for the self-financing condition can be written in matrix form as
Bx = 0, where B is the 3 x 8 matrix given by

So@u 0 0 B()@T 0 0 —Soe“ —Boer
B = 0 So 0 0 Boer 0 —S() —Boer
0 0 Soe_“ 0 0 Boer —Soe_“ —Boer

Hence the full system on the hedging self-financing portfolio x is Gx = b, where G is the
12 x 8 matrix and b is the 12 x 1 vector given by

o (2). b-

The system Gx = b has (in general) no solutions, as there are more equations than unknowns.
However, provided the 8 x 8 matrix GT G is invertible (i.e., det(GTG) # 0) the system admits
a unique least square solution, i.e., a unique solution of G'Gx = G*b. The corresponding
portfolio is called the least square hedging portfolio and it is the portfolio that, in the
least square sense, better approximates a self-financing hedging portfolio. Note that the
least square hedging portfolio is in general neither hedging nor self-financing! However it is,

O O O%
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in the least square sense, the “best” approximation of an hedging, self-financing portfolio.
For example if we let Sy = By = 100, ¢* = 1.05, ¢" = 1.03 and we consider a call with strike
K = S5y = 100, then the possible pay-offs at time 2 are

Y(u,u) =10.25, Y(u,m) =Y (m,u) =25,
Y(u,d) =Y (m,m)=Y(d,u) =Y (m,d) =Y (d,m) =Y(d,d) =0

and the least-square hedging portfolio is

hs (2,
hi(2,
hs(1)
Thus if the stock price goes up at time 1 and time 2, the value of the portfolio at maturity
is

u) = 0.9903, hg(2,m) = 0.5371, hg(2,d) = —0.0112
u) = —0.9335, hp(2,m) = —0.4899, hz(2,d) = 0.0095,
= 0.8119, hp(1) = —0.7533,

hs(2,u)Spe*™ + hp(2,u)Bye®” ~ 10.14

which is actually not enough to hedge the derivative, since Y (u,u) = 10.25. Hence the seller
must add the cash 0.11 at maturity to pay-off the buyer. Moreover, still along the path
(u,u), there is a cash flow at time 1 given by

0(1) = h5(1)506u -+ hB(l)B()GT — (h3(27u)506“ + hB(Q,U)Boer) ~ —0.17

which is negative, meaning that the seller has added this amount to the portfolio. Hence
along this path the seller would incur in the loss 0.17 4+ 0.11 = 0.28. This of course is the
worst case scenario for the writer as the path (u,u) gives the maximum value of the pay-off.

We also remark that the initial value of the portfolio is

and this could be interpreted as the “fair price” at time 0 of the derivative, according to this
“almost self-financing hedging” portfolio.
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Chapter 3

A project on the Asian option

The risk-neutral pricing formula for European call and put options, and for other simple
standard European derivatives, reduces to a simple expression involving the standard normal
distribution, see for the case of European calls. For Asian options, and other path-
dependent options, this reduction is not possible, and the application of numerical methods
to valuate these derivatives becomes essential. The Monte Carlo numerical method is the
most popular among practitioners. This project deals with applications of the Monte Carlo
method to compute the risk-neutral value of Asian options.

The Asian option

The Asian call/put option in the time-continuum case is defined as the non-standard Euro-
pean derivative with pay-off

Ycall = (l /TS(t)dt—K> y YPUt — (K— l/T‘S<t)dt) )
T Jo i T Jo +

where K > 0 is the strike price of the option. The Black-Scholes price at time ¢ = 0 of these
options is given by

Mac(0) = e B [Y™], Txp(0) = e "' E,[YP"].

Task 3.1 (*). Derive the following put-call parity identity:

Mac(0) — Map(0) = e'T <62T_ L, - K) . (3.1)

Task 3.2 (*). The Asian call with geometric average is the non-standard European derivative
with pay-off
Q= (e% Jo g S(t)dt K) . (3.2)
Jr
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Show that the Black-Scholes price at time t = 0 of this derivative is given by
T2 (0) = e T (e Syd(dy) — K D(dy)) (3.30)

where

1 2 /T log 58 + L(r + 2T
q:_(r_o_)’ dy =dy — o[ —, d120gK 21+ %) .
2 6 3 o/T/3

HINT: You need to apply Theorem[0.10

Monte Carlo valuation of the Asian option

Letting 0 =ty < t; < --- <ty =T be a partition of the interval [0, 7] with size t; —t;—1 = h.
We approximate the pay-off of the Asian option on the given partition as

Y - (%/OTS(t)dt—K)+m <%§;S(ti)—l{)

Task 3.3 (Matlab). Write a Matlab code which computes the Black-Scholes price at time
t = 0 and the confidence interval of the Asian option using the crude Monte Carlo method.
Write also a code which applies the control variate Monte Carlo method using the pay-off of
the Asian option with geometric mean as control variate. Compare the new method with crude
Monte Carlo method and show that the control variate technique improves the performance
of the computation. Finally use the control variate Monte Carlo method to study numerically
how the price of the Asian call depend on the parameters of the option. In particular:

+

(a) Verify numerically the put-call parity (3.1)

(b) Show that the Asian call is less sensitive to volatility than the standard call. Do you
have an intuitive explanation for this?

(c) Show that for large volatility the Monte Carlo method becomes unstable (the confidence
interval grows very fast)

(d) Show that the Asian call is cheaper than the standard call with the same strike. Do
you have an intuitive explanation for this?
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Chapter 4

A project on coupon bonds

Coupon bonds are debt instruments issued by national governments as a way to borrow
money and fund their activities. Given the long maturity of coupon bonds (which can reach
up to 30 or more years), the valuation of these contracts must take into account the time
fluctuation of the risk-free rate. Once a stochastic model for the risk-free rate is prescribed,
the valuation of coupon bonds can be carried out using the so called “classical approach”,
which is based on the risk-neutral pricing formula. The main purpose of this project is to
numerically compute the yield curve of coupon bonds implied by a particular example of
stochastic risk-free rate model.

4.1 Zero-coupon bonds

A zero-coupon bond (ZCB) with face (or nominal) value K and maturity 7" > 0 is a
contract that promises to pay to its owner the amount K at time 7T in the future. Zero-
coupon bonds, and the related coupon bonds described in Section [4.2] are issued by national
governments and private companies as a way to borrow money and fund their activities.
Without loss of generality we assume from now on that K = 1, as owning a ZCB with face
value K is clearly equivalent to own K shares of a ZCB with face value 1. Moreover in the
following we assume that all ZCB’s are issued by one given institution, so that all bonds
differ merely by their maturities.

After being originally issued in the so-called primary market, the ZCB becomes a tradable
asset in the secondary bond market. It is therefore natural to model the value at time
t of the ZCB maturing at time 7' > ¢ as a random variable, which we denote by B(t,T).
Hence {B(t,T)}ico.r) is a stochastic process. We assume throughout the discussion that
the institution issuing the bond bears no risk of default, i.e., B(t,T) > 0, for all t € [0, T].
Clearly B(T,T) = 1 and, under normal market conditions, B(t,T) < 1, fort < T, i.e., ZCB’s
are risk-free assets ensuring a positive return. However exceptions are possible; for instance
national bonds in Sweden with maturity shorter than 5 years yield currently (2017) a negative
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return. A ZCB market is a market that consists of ZCB’s with different maturities. Our
main goal is to introduce models for the price of ZCB’s observed in the market. For modeling
purposes we assume that there is a ZCB in the market maturing at each time 7' € [0, 5],
where S is the maturity of the latest expiring ZCB in the market (e.g., S & 30 years). Note
that this assumption is quite far from reality, one reason being that bonds with maturity
larger than, say, 2 years will most likely pay coupons.

Interest rates and yield of ZCB'’s

The difference in value of ZCB’s with different maturities is expressed through the implied
forward rate of the bond. To define this concept, suppose that at the present time ¢ we open
a portfolio that consists of —1 share of a ZCB with maturity ¢ < T and B(t,T)/B(t, T + ¢)
shares of a ZCB expiring at time 7"+ 9. This investment has zero value and entails that we
pay 1 at time T and receive B(t,T)/B(t,T + §) at time 7'+ . Hence our investment at
the present time ¢ is equivalent to an investment in the future time interval [T, T + §] with
(annualized) return given by

B(t,T) — B(t,T + )
SB(L, T +9)

Fy(t,T) = % (B(t,T)/B(t,T +6) — 1) = (4.1)

The quantity Fs(¢,T) is also called discretely compounded forward rate in the interval
[T, T+ 0] locked at time ¢ (or forward LIBOR, as it is commonly applied to LIBOR interest
rate contracts). The name is intended to emphasize that the investment return in the future
interval [T, T + ¢] is locked at the present time ¢ < T, that is to say, we know today which
interest rate has to be charged to borrow in the future time interval [T, T + ¢] (if a different
rate were locked today, then an arbitrage opportunity would arise). When 6 — 0 we obtain
the continuously compounded T-forward rate

. 1BT)-B(tT+06)
f(ta T) - 5&%1-% 5 B(t,T—i— (5) - _aT IOgB(t, T)7 (42)

which is the rate locked at time t to borrow at time 7" for an “infinitesimal” period of time.
In the following we shall consider only continuously compounded rates.

The curve T' — f(t,T) is called forward rate curve of the ZCB market. The knowledge
of the forward rate curve determines the price B(t,T) of all ZCB’s in the market through
the formula

B(t,T) = exp (— /tT F(t,s) ds) , 0<t<T<S§, (4.3)

which follows easily by integrating (4.2)).

The quantity
r(t) = f(t,t), te€]l0,9] (4.4)
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is called the (continuously compounded) spot rate of the ZCB market at time ¢ and
represents the interest rate locked at time ¢ to borrow instantaneously at time ¢ (i.e., on the
spot).

The spot rate can be used to define the discount process:

t
d(t) = exp (—/ r(s) ds) (continuously compounded) (4.5)
0

If ¢ is the present time and X (7) is the value of an asset at some given future time 7 > ¢,

then the quantit
o X =ew (- o) x(r)

is called the present (at time ¢) discounted value of the asset and represents the future (at
time 7) value of the asset relative to the purchasing value of money at that time.

We conclude this section by presenting the fundamental concept of ZCB'’s yield to maturity.
The (continuously compounded) yield (to maturity) y(¢,7") at time ¢ of the ZCB with
maturity 7" is the constant forward rate which entails the value B(t,T) of the ZCB. Hence
the yield y(¢,T) of a ZCB is obtained by replacing f(t,v) = y(¢,T) in (4.3), i.e.,
log B(t,T)
T—1t
To put it in other words: Selling a ZCB for the price B(t,T') at time ¢ (i.e., borrowing B(¢,T)
at time t) is equivalent to lock the constant forward rate y(¢,7") until maturity. Note also
that the first equation in (4.6)) expresses B(t,T') as the discounted value at time ¢ of the

future payment = 1 at maturity assuming that the spot rate is constant and equal to y(t,T)
in the interval [¢, 7.

B(t,T) = e v&DI=D e yt,T) = (4.6)

4.2 Coupon bonds

Let 0 < t; <ty <--- <ty =T be a partition of the interval [0,7]. A coupon bond with
maturity 7', face value 1 and coupons ¢y, ca, ..., cpyr € [0,1) is a contract that promises to pay
the amount c; at time ¢, and the amount 1+ cj; at maturity 7' = ¢,,. Note that some c; may
be zero, which means that no coupon is actually paid at that time. We set ¢ = (¢q,...,cpr)
and denote by B.(t,T) the value at time ¢ of the bond paying the coupons ¢y, ..., ¢y and
maturing at time 7. Now, let t € [0,T] and k(¢) € {1,..., M} be the smallest index such
that t,) > ¢, that is to say, ty() is the first time after ¢ at which a coupon is paid. Holding
the coupon bond at time ¢ is clearly equivalent to holding a portfolio containing cy) shares
of the ZCB expiring at time (), cx)+1 shares of the ZCB expiring at time t;)41, and so

on, hence
M-1

B.(t,T) = Y ¢;B(t,t;) + (1+cy)B(t,T), (4.7)

J=k(t)
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the sum being zero when k(t) = M.
The yield of a coupon bond is defined implicitly by the equation

M-1
B.(t,T) = Y ¢je D0 4 (14 ¢p)eve DI (4.8)
J=k(t)
and so the yield of the coupon bond is the constant spot rate used to discount the total future
payments of the coupon bond.

Remark 4.1. Most commonly the coupons are equal. Letting ¢; = ¢, forall j =1,..., M,
the formula (4.8) simplifies to

M-1
B.(t,T) = ¢ Z e v D)L= 4 (1 4 ¢)e e THT—), (4.9)
j=k(t)

To compute the yield of a coupon bond with values B.(¢,T), one has to invert (4.9). For
instance, assume that 7' = M years and that the coupons are paid annually, that is ¢t; = 1,
ty=2,...,tyy = M. Then x = e %) solves p(x) = 0, where p is the M-order polynomial
given by

p(z) = x4+ ca® + -+ (1 + ear)x™ — B.(0,T). (4.10)
The roots of this polynomial can easily be computed numerically, e.g., with the command
roots[p] in matlab, see Task below.

Yield curve

(Zero) coupon bonds are listed in the market in terms of their yield rather than in terms of
their price. The curve T' — y.(t,T) is called the yield curve of the ZCB market. Figure
shows an example of yield curve for governmental Swedish bonds.

Task 4.1 (*). Yield curves observed in the market are classified based on their shape (e.g.,
steep, flat, inverted, etc.). Find out on the Internet what the different shapes mean from an
economical point of view and write a short text (one page) about this.

4.3 The classical approach to ZCB’s pricing

In this section we describe the so-called classical approach to ZCB’s pricing. This approach
is based on the risk-neutral pricing formula.

Definition 4.1. Let {r(t)}+>0 be a stochastic process modeling the spot interest rate of the
ZCB market, where we assume that r(0) = 1o is a deterministic constant. Then

B(0,T) = E[d(T)] = E[e™Jo 7()4s], (4.11)
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Sweden Yield Curve - 13/02/17

Sweden Government Bonds

2%

0%

-2%

i B &' I A - I
Residual Maturity
— Sweden (13/02/17) - IMago - 6M ago

Figure 4.1: Yield curve for Swedish bonds. Note that the yield is negative for maturities
shorter than 5 years. Bonds with maturity larger than 2 years have coupon and thus their

yield is computed using (4.8]) (instead of (4.6])).

Hence the value at time ¢t = 0 of the ZCB is the expected value of the discounted future pay-
ment = 1 of the ZCB. Note that in a purely ZCB market, one cannot define a martingale, or
risk-neutral, probability, hence the expectation in is taken in the physical probability.
Equivalently, in the classical approach to ZCB’s pricing, the physical probability is assumed
to be risk-neutral.

In the following two tasks it is asked to compute the exact value of B(0,7") when the spot
rate is given by two simple models, namely the Ho-Lee model and the Vasicek model.

Task 4.2 (*). In the Ho-Lee model, the risk-free rate is assumed to satisfy
r(t) =r(0)+0(t) + cW(t), 6(0)=0, (4.12)

where {W (t) }1>0 is a Brownian motion, o > 0 is constant and 0(t) is a deterministic function
of time. Derive the initial price B(0,T)of the ZCB with face value 1 and maturity T > 0
and the forward rate f(0,T) implied by the Ho-Lee model. Sketch the graph T — f(0,T)
of the forward curve at time t = 0 (experiment for different functions 6). HINT: You need
Theorem [0.10.
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Task 4.3 (*). In the Vasicek model, the risk-free rate is assumed to satisfy

t
r(t) =r0)e ™ +b(1 — e ™)+ aW(t) — aa/ DWW (s) ds, (4.13)
0
where {W(t) }+>0 is a Brownian motion and a > 0,0 € R, 0 > 0 are constants. Note that, by
Theorem r(t) is normally distributed. Show that the initial price of the ZCB with face
value 1 and maturity T > 0 is given by

B(0,T) = e "OAM+C@) (4.14a)

where
A(T) = 2(1 —e ), (4.14b)
C(T) = (b - %) (A(T) - T) — Z—QA(T)% (4.14c)

HINT: You need Theorem [010.

Remark 4.2. By using the notation in Remark [0.9, we can write the definition of r(¢) in
the Vasicek model as

r(t) =r(0) + b(e™ — 1) + O'/O e dW (s),

which is the form of r(¢) most used in the literature.

Task 4.4 (Matlab). Part I. Write a matlab function
yield(B, Coupon, FirstCoupDate, CoupFreq, T)

that computes the continuously compounded yield of a coupon bond. Here, B is the current
(i.e., at time t = 0) price of the coupon bound, Coupon € [0,1) is the (constant) coupon,
FirstCoupDate is the first future date at which the coupon is paid, CoupFreq is the frequency
of coupon payments and T is the time left to maturity maturity. For exampl(ﬂ

yield(1.01,0.02,46/252, 1,19 4 201/252)

computes the yield of a 2% coupon bond which today is valued 1.01, pays the first coupon
in 46 days and matures in 19 years and 201/252 days. Part IL. Let {r(t)}>o be given by
the Vasicek model with parameters a,b,o. Apply the code in Part I to perform a parameter
sensitivity analysis of the yield curve. Can you reproduce all the typical shapes found in

Exercise [{.1?

'Remember that time in finance is measured in fraction of years and 1 year = 252 days (unless otherwise
stated in the contract).
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Chapter 5

A project on multi-asset options

Multi-asset options are financial derivatives on several underlying assets. In this project we
consider standard European derivatives on two stocks, i.e., European style derivatives with
pay-off of the form Y = ¢(S1(T), S2(T)), where Si(t), Sa2(t) are the prices of the underlying
stocks at time ¢ € [0,7] and 7" > 0 is the time of maturity of the derivative. After the
Black-Scholes theory for single stock options is generalized to the two dimensional case, the
Monte Carlo method is applied to compute the price of maximum call options on two stocks.

5.1 Examples of options on two stocks

Given K, Ky > 0, a two assets correlation call option with maturity 7" is the European
derivative with pay-off

y — (SQ(T) — K2)+ if Sl(T) > Kl
10 otherwise

A maximum call option on two stocks with maturity 7" is the European style derivative
with pay-off Y = max((S1(T)— K1)+, (S2(T)— K3)4 ), and similarly one defines the minimum
call option on two stocks and the analogous put options.

The European derivative with maturity 7" and pay-off
Y = (Su(T) = 5:(T))+
is called a spread option (or exchange asset option). The European derivative with

maturity 7" and pay-off
S1(T) )
Y = - K
(52 (T) +

is called a relative outperformance option.

65



A quanto option is a call or put option on a stock in which the pay-off is paid in a different
currency than the one in which the stock is traded. Thus, letting Z(¢) be the exchange rate
of the two currencies at time ¢, the pay-off of a quanto call option with maturity 7T is

Y —

[1]

(T)(S(T) = K)+.
Note that in this example the second asset is not at stock but a market index (the exchange
rate Z(t)).

The list of examples could go on, but we stop here. New types of multi-asset options are
created frequently. All multi-asset options are traded OTC.

5.2 Black-Scholes price of 2-assets standard European
derivatives

In Black-Scholes theory of two-dimensional markets it is assumed that the stocks prices are
given by a 2-dimensional geometric Brownian motion, namely:

Si(t) = S1(0)e™HonWiltyrorWa(l) (5.1a)
Sy(t) = Sy(0)ezttonWi(t)+oaWa(t) (5.1b)
where {Wy(t)}+>0, {W2(t) }+>0 are independent Brownian motions in the physical probability

P and aq, ag, 011,012,091, 092 are real constants. We assume that the volatility matrix
o = (0y;) is invertible. Letting

W(t) = (Wi(t), Wa(t)), o1 = (ou,012), 02= (02,02),
we can rewrite the 2-dimensional geometric Brownian motion in the more concise form
Sj<t> — Sj (0)€ajt+0j~W(t)7

where - denotes the standard scalar product of vectors. We start by deriving the joint density
of the stocks prices.

Theorem 5.1. The random variables log Sy (t),log Sa(t) are jointly normally distributed with
mean m = (log S1(0) + ast,1log S2(0) + ast) and covariant matriz C = too™. In particular,
the random variables Si(t), Sa(t) have the joint density

log % - a1t>

1o sy et T gy ) e S
0

e

Tsiw),8.0) (2, y) = (5.2)

try/(2m)2 det(o - oT)
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Proof. We have

log S1(t) = log S1(0) + ayt + o1 Wi (t) + o12Wa(t),
log Sa(t) = log S5(0) + it + ao1 Wi (t) + 092 Wa(t),

hence the first statement of the theorem follows by Theorem [0.9f The joint density of
S1(t), Sa(t) is computed using that

Fs,(1),5,0) (7, y) = P(S1(t) < 2, 5:(t) < y)
= ]P)(log Sl (t) < IOg z, log S2(t) < IOg y) = E0g51(t),10g52(t)(10g$7 log y)7

hence
fs10,5:00 (@, y) = 020y Fs,(1),8,(0) (%, y) = 00y [Flog 51(¢) 10 5(1) (108 7, 10g y/)]
= (xy>_1flog S1(t),log Sa(t) (log x, lOg y),
which, using the joint normal density of log S1(t) and log Sy(t), gives (5.2)). O

The geometric Brownian motion is often given in a different but equivalent (in distribution)
form, as shown in the next Task.

Task 5.1 (*). Show that the process (b.1)) is equivalent, in distribution, to the process

Si(t) = Sy (0)e™HHo M) (5.3a)
Sy(t) = S2<0)6azt+lcrz\(pW1(t)+ 1—p2W2(t))7 (5.3b)

where |o;| = \/0% + 0% is the Euclidean norm of the vector o; and

0109

p € [-1,1] (5.4)

ool
is the cosine of the angle between oy, 0.

Remark 5.1. It can be shown the historical variances of the two stocks are unbiased
estimators for |o1]?, |o»|?, while the historical correlation of log-returns of the two stocks is
an unbiased estimator for p.

Now, exactly as in the one-dimensional case discussed in Section [0.4] it is possible to define a
risk-neutral (or martingale) probability measure with respect to which the discounted value
of both stocks are martingales. We seek this probability measure in the class of Girsanov
probabilities Py introduced in Theorem [0.14] where 6 = (6, 6,) € R2. The problem is solved
in the following two theorems, which are the 2-dimensional generalizations of Theorem |0.17]
and Theorem [0.18 respectively.
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Theorem 5.2. Let pn = (oq — 1 + 3|o1|?, 0 — 7 + 3|ou|?). The discounted values Si(t) =
e S (t) and Si(t) = e "Sy(t) of the stocks have constant expectation in the Girsanov
probability Py if and only if 0 = q¢ = (q1,q2), where q is the (unique) solution of the linear
system oq = L.

Theorem 5.3. The stochastic processes {S(t)}i>0 and {S5(t)}+>0 are martingales in the
probability measure Py if and only if 6 = q = (q1, ).

Task 5.2 (*). Prove Theorem[5.4

The probability measure P, is the martingale (or risk-neutral) probability of the 2-dimensional
Black-Scholes market.

Task 5.3 (*). Prove that in the probability P, the stocks prices are given by the following
2-dimensional geometric Brownian motion

. 2
Sy(t) = Sy(0)elr= A e W), (5.5a)
S(t) = Sp(0)elr =Bt W) (5.5b)

where W@ (t) = (W9 (£), W9 (1)) = (Wi(t)+aut, Wa(t) +qat) and {W 2 (1) biso, {W 2 () biso

are Pg-independent Brownian motions.

Denoting by E, the expectation in the probability P,, the Black-Scholes price at time t = 0
of the 2-assets European derivative with pay-off Y at maturity 7" is given by the risk-neutral
pricing formula Iy (0) = e "TE,[Y].

Example: relative outperformance options
For the relative outperformance call option with strike K the pay-off function is given by

g(z,y) = (g—K)+-

Let’s compute the Black-Scholes price at time ¢ = 0 using the risk-neutral pricing formula

Iy (0) = e ""Eqy[g(S1(T), S2(T)], i.e., using (5.5),

-7 [(35x)|
Si(

loa|?

— TR O>€( Z —#)TJF(UI—@)-WW(T) _K
1\ S5(0) N

where we recall that W@ (¢) = (W 2(t), Wi(1)) and {W () }imo, {W 9 (t)}150 are inde-

pendent Brownian motion in the risk-neutral probability measure. Now we write

(01 — 03) - W(T) = VT[(011 — 021)G1 + (013 — 022)Ga] = VT (X1 + X5),
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where G; = W\(T)/v/T € N(0,1), j = 1,2, hence X; € N(0, (o1, — 02;)%), j = 1,2. In
addition, X7, X, are independent random variables, hence X; + X5 is normally distributed
with zero mean and variance (o1; — 091)* + (012 — 092)? = |01 — 02|* (see Theorem . It
follows that

2 | 2

Hy<0) — e—rTEq |:(Sl_(0)€(o% _\0% VYT+VT|o1—02|G) K) :| :
_l’_

$2(0)
where G € N(0,1). Hence, letting

P = o1 — oof? n |o2]*  |ou|?
2 2 2
and a = "7, we have

Iy (0) = ae ""E, {(g:ggge(fﬁz@l JT+VTlo1-02lG _ K) ] .
+

Up to the multiplicative parameter a, this is the Black-Scholes price at time ¢ = 0 of a call
on a stock with price S1(0)/52(0), volatility |03 — o3| and for an interest rate of the money
market given by 7. Hence

fy (0) = a (‘G d) — Ke"Tald) ) = a(1(0). 5:0), (5.6)
where
. log Kséiz) + (r £ _‘UIEJQIZ)T
s oy — oa|y/T

Task 5.4 (Matlab). Write a Matlab function
MaximumCall(Ky, Ky, T,s1,s2 sigmal, sigma2, rho,r,N,n)

which applies the crude Monte Carlo method to compute the initial price (at time t =0) of
the maximum call option with strikes K1, Ky and expiring at time T'. Here s1, s2 are the
initial prices of the stocks, sigmal, sigma2 are the volatilities of the stocks and rho is their
correlation (in the notation (5.3), sigmal= |o1|). Moreover N is the number of points in a
uniform partition of [0, T| and n is the number of paths used for the Monte Carlo simulation.
Use this function to perform a parameter sensitivity analysis of the mazimum call option.

Integral form of the Black-Scholes price for general standard Euro-
pean derivatives on two stocks

In the case of standard European derivatives the risk-neutral pricing formula II-(0) =
e "TE[g(S1(T), So(T)] can be written in a closed integral form, as shown in the following

analog of Theorem [0.19]
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Theorem 5.4. The Black-Scholes price at time t = 0 of the 2-stocks option with pay-off
Y = g(51(T), S2(T)) is given by

Iy (0) = vo(51(0), 52(0)), (5.7a)

where the pricing function vy is given by

T, . A <_§ (& ) (eoh)™ <§>)
vo(z,y) = rel"” 2 ,yel' ™ 2 n d€ dn.
olz-9) /11@2 g < Y > 2my/det(coT) S

(5.7b)

Sketch of the proof. The proof follows by using the joint density of S;(7'), S2(T") in the risk-
neutral probability to compute E,[Y]. Namely, according to , the stock prices in the
risk-neutral probability are given by a geometric Brownian motion with mean of log-returns
a; =1 — %|a]2-], j = 1,2. Replacing these values of aq, as into gives the joint density

_]?:ql ),5:(t)(z, y) of the stock prices in the risk-neutral probability, from which we can compute
Iy (0) = e "By [g(S1(T), S2(T)] as

My (0) = 7 / 9. y) s itr.s0m) (2, ) d dy.

R2

After a proper change of variable, the previous expression transforms into (5.7)). O

The Black-Scholes price at time ¢ > 0 of the 2-assets European derivative with pay-off
Y = g(S1(T), So(T)) is given by a formula similar to the one in Theorem namely

My (t) = v(t, 51(t), 5(1)),

where the pricing function v is given by

exp (—% (& n) (e0") (g
2my/det(coT)

Moreover it can be shown that the number of shares on the two stocks in the self-financing
hedging portfolio of the derivative is given by

) ) ¢ dn. (5.8)

oq? o2
v(t,z,y) :/ g <5L‘e(7’_ %l )H_‘ﬁﬁ,ye(r_‘ %\ )T_,’_ﬁn)
R2

h‘Sl (t) = ax’l}(t, Sl (t)a SZ(t))a hSQ (t) = ay’l)(t, Sl <t>? 82<t>>7

while the number of shares hp(t) on the risk-free asset is determined by the replicating
condition Iy (t) = hg, (t)S1(t) + hs,(t)S2(t) + hp(t)B(t), ie.,

hp(t) = B(t) " (Iy(t) — hs, (£)S1(t) — hs, () Sa(t)).
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